Question Paper Title : TAIT_PAPER_1

Date of Exam : 2017-12-12 09:00:00

T U U= Ueh Y@ fayiiad IR faU™ 3ied Sui=arare! a, b, ¢, M0l d 3 IR faeg 3Mgd.
HHAR faumR St HaeT samed uud fau gu=an faumTer gaad, oiftT aiel faum afbamesear wia
faymrTa Ffed s

THeR o WIE 3MTe fdhar 7 afTe.
A. T T 318,
B. T WTC TG
C. dl g3 3fTe.
D. a1 g A&

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

He is either smart or fool .
A. He is smart

B. He is not smart

C. He is fool

D. He is not fool

i S Ul Shuie gpend gn 8 0y wali S (63 )5l e o) e s Sin 1 ales SOl (e Dl 1l
b Gt S b S e Ahie e 53 Hgl by So Wl gl (S Alea 2 jugd e S (L

Gy b o b sl
A Jdises-

B w Jhdisios-
Cosdy —es-
Dduﬁjq)ﬁﬁdw'

A.AC
A.AC
A.AC

B.DA
B.DA
B.DA

C.CB
C.CB
C.CB



D.AB
D.AB
D.AB

Answer: B.DA
B.DA
B.DA

2 Choose the word which is opposite in meaning to the given word.
ADULTERATION

A.Purification
B.Contamination
C. Pollution

D.Bribery

Answer: A.Purification

3 ‘IS T YeGI FHHNRI Tz HIoTdT 2

Agfsd
B.3rquf

C.HdT

D.3{eT

Answer: C. AT

4 JAgd S RS $& TTdd?

Where does a Bulbul make its nest?

$ Ly Sl 568 Wyl Jiby




Answer:

Answer:

AUl
A.Hedges
Ao sl

B.gsU
B.Bushes
B. ux usie

C.3Ig! SUUT 3T gy
C.Both hedges and bushes
C.om 055 0sJle L3 usil

D.ad Ut ATl

D.None of the above
D. b 255 = 0o Vb~ e

C IS HUUT 3TioT gy
C.Both hedges and bushes
C.ux usis? osdles sl usdh

19 S 1440 ISt STSTSATIT HIUCT IR BId?
What was the day of week on 19™ June 14407

19 T8 0 Lui S 1S 0 S 1440 Gsa

ATR=AR
A.Thursday

A_Q\)M;

B.dYdR
B.Wednesday

B.ax

C.YhdRR
C.Friday

C.rzan

DR
D.Saturday

C.X[pdR
C.Friday

C.rran




6 order: feem Rseamys dvg gt fage mfes qof &,
DIRECTIONS: Complete the series by choosing right figure from the given choices.

S S g TR s R s ol las i S il
2 b TR A Sphadh e L e

(A) @B () (D)

(€)
(D)
(A)
Answer: 8
(€)
7 Choose the word which is most similar in meaning to the given word.
BEGIN

A.Commence

B.Cease

C.Conclude

D.Terminate

Answer: A.Commence



8 TalTaT ol ThT I SHT 318, Uh TN Glval SToT AqedT RITER ST 318, TR avid YR T fobdt ait sfed

A class of girls stands in a single line. One girl is ninth in order from both the ends. How many girls are
there in the class?

= US3 (SS e GOS | st o e U0 SOV S L 368 e S o Sl S (S aS

A.27
A27
A27

B.17
B.17
B.17

C.38
C.38
C.38

D.39
D.39
D.39

Answer: B.17
B.17
B.17



9 G : WTcitd U UHTd G faem | o1for 11 faeie 3. 8 faU TR Wdd SRUT 3y Jebdrd fdvarl Wad
HRUMD RO 3R IHdTd. TiUH! U fGUM SR AU uRomT e[y Xebd). Gie! e ardT T
G| HIvTET ITRTET U4 a1 gig! fauiadia deuie aufe sl d 3xar.

ICRIGE
. X SR SO ARTRGETST Urguie ifAard dhefl 3%,
11, X TRATAT Y RIATIRTAT GHIAT dis F1d AT 3R,

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. Country X has made passport compulsory for its citizens.
Il. Country X is facing problem of illegal migrants.

by 5 e Jlsm gy o 1l | ool 11T 84 iy g on B a0 -0 55 0 S S Cllsas 1 g b lasas o))
O G IS Qa8 8 0 2 a8 (S abead gl a5y Sl (sisn s B 5 31 1S 2 s Ol Sl e (e iy
= B8 il e Sl S 3l e 5o S il 5i g0

il
| =Xz s S e 3¥ Qs ol S syt 3 oS
- X - = Gl Al 1S (i Sl A6 e S Sl

A TS | HRUT 317 30T fAET 1| = GRumH 3iTe:

A.Statement | is the cause and statement Il is its effect;
A i g | i gl oyl 2 s -2 SIS

B.f3em 1| HRUT 31g 3MfUr faem | & ufvony 3ffe;
B.Statement Il is the cause and statement | is its effect;
B. ssi gl Il sei Ol Ll s |- = TS Gl

C.FaYT | 31107 11 ST W HRUN 3R,

C.Both the statements | and Il are independent causes;
C. el Glily 5353 | sl sl 1o Sloga g A1

D.faum | 31f0r 11 S Xads HRUM TR 377 d;
D.Both the statements | and Il are effects of independent causes;
D. el iy sisa | el ) ] -0 Sl 8 S Slsa s a1

Answer: B.faum 1| sRUT 3118 311f01 faem | = givome Sire;

B.Statement Il is the cause and statement | is its effect;
B. s g ll s gl ol o~ |- = IS



10

Answer:

11

Answer:

T HATSRATSH HTed] AT S 3MTg.” IT ARl [IRINT Sfies.

Al

SEISECIN

C.h[A]

DA

C.p[A]

I Ryl e i gfaHr urde! BRIt Sarad! Sirs, Jehd.

How an infants intelligence level be increased under normal condition.

o BSla W5y S S e (S i B (S g e 2V Gle

A GRI&d ITATaRUT SUsY e T
A.providing a secure environment
A S5 S8 b Jsale b sias SO

B. oY SARIUMYH d71e5 Saedi

B.keeping the child away from others
B. 25 5650 050 e s jugd S

C g4 f¥ragr dea™

C.smiling often
C.25n S Sase adnay

D.(a)d (c)
D.(a) and (c)
D.((a »s (c)

D.(a)d (c)
D.(a) and (c)
D.((a »s (c)



12 IRATAT HTFlell WIATTTH FIOTAT Fcd¥ AHcdl SAlScedl Hed?

Which of the answer figures is embedded in the question figure?

S g 83 e LIS 0 83 atlay

T ATHAT:

Question Figure:
TR

<

SHLATDAT:
Answer Figures:
55E ol

(8] &
(€) & (13) %

(@) (A)
(b) (B)
(c) (C)
(d) (D)

Answer:  (b) (B)

13 FTeierde! G aTad DI ?

A fea FiTTe Teft .
B.cit fea =ivrer e,
C i f&ag et e,
Dl fea9 =iere .

Answer: D.dI faag IiTe e,



14 WS =Y I
3972 + 7646 + 8791 + 2763 + 9437 =7

Simplify:
3972 + 7646 + 8791 + 2763 + 9437 =7

ol ol
3972+7646+8791+2763+9437="

A.32609
A.32609
A.32609

B.25630
B.25630
B.25630

C.32405
C.32405
C.32405

D.78512
D.78512
D.78512

Answer: A.32609
A.32609
A.32609

15 5/12 A CIhARId SUIaR B,

Convert 5/12 into percentage?

5/129 S Uit e (e 2em 35

A.42%
A.42%

A.42%

B.40%
B.40%

B.40%



C.41.67%
C.41.67%

C.41.67%

D.43%
D.43%

D.43%

Answer: C.41.67%
C.41.67%

C.41.67%

16 URMYS IeraR=l garTe B 3Tg.

What is the age range of early adulthood.

o WS e g) S jee S e gl il

A.60-80
A.60-80
A.60-80

B.45-55
B.45-55
B.45-55

C.20-40
C.20-40
C.20-40

D.35-65
D.35-65
D.35-65

Answer: C.20-40
C.20-40
C.20-40



17

Answer:

18

Answer:

fRrefent TRt AR SRIFOTHTS! ald gIM®R® Sddl ged U dalfid—

Probably the factor most detrimental to the Mental-health of the teaching profession is—

dwadu@:»mcdéumschﬁé@ﬁjﬁﬁ)}bm

A 3ifdeiie Riefauarar YR, Iar. FafcareR faemf sryerar o
A.Excessive teacher load, e.g., overcrowded class-rooms
Apsy OIS S oy nosh S dbega el —w g pea il

B. 3{TcR-aA o way
B.Inter-personal conflicts
B.cle 3l Sl

C. G- ell Yo R e dHrugra St daaar
C.Lack of opportunity to express oneself creatively
CoS SEs S S8 MBS A 5 sk Al

D.THIREYUN TS R

D.Monotony.
D.- ) Sy

D.THIREUUNI TS R,

D.Monotony.
D.- &)y Sy

Out of the given options, choose the most appropriate one to fill in the blank.
The boy on the burning deck.

A.stood

B.have stood

C.have stand

D.has stand

A.stood



19

Answer:

20

UepT fafRry Hichferes 1T8Hed, SR PANCREAS 81 2eG SAERCNAP 31 Gedtq hafl Sl 3dd, STADIUM
1 Xeq T UTNd HI HedeE hall Aga?

In a certain code language, if the word PANCREAS is coded as SAERCNAP, then how is the word
STADIUM coded in that language?

Bil 81 e 03 oS o m seaie Sl PANCREAS ¢ SAERCNAP Ll e s o) 55 ¢ —ialek] STADIUM <
Bailalesd —us

A.MUDIATS
A.MUDIATS
A.MUDIATS

B.MUDIAST
B.MUDIAST
B.MUDIAST

C.MUIDATS
C.MUIDATS
C.MUIDATS

D.MIUDATS
D.MIUDATS
D.MIUDATS

C.MUIDATS
C.MUIDATS
C.MUIDATS

YIS FET: TeiTel HIfeTeT gui .
A,B,D,G,___ P

DIRECTION: Complete the following series.
A,B,D,G,___ P

UGS JaSe S s i~ aierculy

A’ B’ D’ Gl JP

AK
AK
AK

B.T
B.T
B.T



C.L
C.L
C.L

D.H
D.H
D.H

Answer: AK
AK
AK

21 G2 TTelid Ui Uy FegT=an (2) ST Sivrd SigTol Jed Il 847 (TR 3ae Jod HIeUard fuféd
).

31+3x15="7

DIRECTIONS: What approximate value should come in place of the question mark (?) in the following
questions? (You are not expected to calculate the exact value)

31+3x15="7

B by abradi b 058y S (S (?) L85 1S Jlsms 30 Il pms i o ke 1l -
(= o s (S G sbg mmaa S )
31+3%15="

A.150
A.150
A.150

B.160
B.160
B.160

C.180
C.180
C.180

D.140
D.140
D.140

Answer: A.150
A.150
A.150



22 g Yl 12431 + 62143 =7

Simplify:
12431 + 62143 =7

oy sl
12431 + 62143 =7

A.75574
A.75574
A.75574

B.74474
B.74474
B.74474

C.74564
C.74564
C.74564

D.74574
D.74574
D.74574

Answer: D.74574
D.74574
D.74574

23 1 o TRexten aardt (TeRiTEd) 120 SR, Weliate! HIvdT I AATd! (TIIUw) Sy b ATa1?
The LCM of three different numbers is 120. Which of the following cannot be their HCF?

o) o B S 5yl caline ((LCM) ¢ 120 <l (oo ) (o 05 = e I ~a p2ie - = ( HCF) ¢ = (S5 s

A8
A8
A8

B.12
B.12
B.12

C.24
C.24
C.24



D.35

D.35
D.35
Answer: D.35
D.35
D.35
24 Fill in the blank with the correct article.
He was first man to arrive
A.the
B.a
C.an
D.No article required
Answer: A.the
25 T Y eq D10 2
AT>
B
Cx=
DRJRY
Answer: Cx=
26 S S S A3 ... .
WWW stands for



Adcs g& a9
A.World Work Web
Acus S35

B.dlSS 9o dd
B.Wide Work Web

B.cus S 3l

C.a5S dcs a9
C.Wide World Web
C.cus I3l

D.dee dl58 a9
D.World Wide Web
D.cus Sl 3 5

Answer: D.deS ané—s G|
D.World Wide Web
D.cus 1535

27 T YT SMUYRTGR STEBUIR Jed 3R 3Tg:
Value that is found in friendships on a consistent basis is:

= U Wl e gy ol dadiss s (e 18 3 2 2

AFETIH SHTTOT FTAR
A.Sympathy and empathy

Al a0 sl B

B.ATHIUIGUUN 31107 fayr

B.Honesty & trust
B. e J}\ Ls‘)\hug\

C.UREOR FHl 310 HouM
C.Mutual understanding and compassion
C. il sl andi 5 aldl

D.9d 9d
D.All the above
D. plai Yl i )aia

Answer: Dad Id
D.All the above
D. ala YU an joie



28 IUMP IR hT:
127 x6="7

Multiply:
127 x6 =7

U Qe
127 x6="7

A.862
A.862
A.862

B.762
B.762
B.762

C.562
C.562
C.562

D.662
D.662
D.662

Answer: B.762
B.762
B.762

29 QIAAUD! 3G Ve PIUTT ?

AT
B.I[gh g
CIew
D.T]fgt

Answer: D.‘I%:ﬁ



30

Answer:

31

1&g T3 JRATATT JUT=AT ORI FaTd A6 Uhd HRUT — AT [AHFTT 318

The greatest single cause of failure in beginning for teachers lies in the area of—

= s U Ao Gl a s 65 e e S (S (a8 (e e 550 ) Selilul—

A FAITHROT TPt

A.General culture
A 2K casee

B. TR Rrergit

B.General scholarship
B sl ole

C v g arefagft

C.Subject-matter back ground
C. b oS¢ snse

D 3{icR-oufdRTTd Heiy/
D.Inter-personal relations
D.clalxs 5l

D 3{icR-oufRTTd Heie/
D.Inter-personal relations
D.clalxs 5l

TH T AT YRRT <A qaTe TOIRR 2 : 3 378, 12 TR e g UK 1 : 15 Blsd. IR 94 favdit
3R (ANfF)?

The ratio of Mukesh’s and Suresh’s age is 2 : 3. After 12 years the ratio of their ages become 11 : 15.
What is the age of Suresh (in years)?

LS (oo Jls) e (S Gl - 2 Ula (015 1 11l S g pee (S ol Jle 1202 3 1 2l IS (g pee (S Gl ) (S
.
=

A.16
A.16
A.16

B.32
B.32
B.32

C.48
C.48
C.48



D.42
D.42
D.42

Answer: C.48
C.48
C.48

32

fa&er: @l vF Frergrean qHsT FUTAn A, Eeredn Scay HHATAYS, Ui "Idedrd
ar wa1 fede a giEa w1

DIRECTIONS: A piece of paper is shown below. From the given answer
figures, indicate how it will appear when it is folded?

Jj U\_|¢'_=' é-\_{ u;_-llnl_"'iu‘____n. _;.{._5.‘ ,_-—.':_,*' d.‘g&?&l_’-ﬁ_ 'I.

T 2 i
Eéi'."@lj_;—uuiwn.lﬁ;L."_._'lﬁél'_‘;‘é

>
AT

R g

5

.)
.‘l'
1
{
Fal L1
1id v
wlmis i

(A) (B) (C) (D)

B.B

C.C

A A

Answer: A. A

33 I Wed wiHe e yafaiayA deftid sier g fHasr.
HKNQ : GKOS :: SVYB : ?

DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

HKNQ : GKOS :: SVYB : ?

.wﬁ@%j;&da&qjﬁduydjwc’sddcuyd\ydglgjm:L\M

HKNQ : GKOS :: SVYB : ?



A TQMK
A TQMK
A.TQMK

B.NRVZ
B.NRVZ
B.NRVZ

C.ZVTQ
C.ZvTQ
C.ZVTQ

D.ADGJ
D.ADGJ
D.ADGJ

Answer: B.NRVZ
B.NRVZ
B.NRVZ

34 LI W wyiae e qafaide Heftid sier/Rsa/ien HasT.
UIaTg <ol : Ufdsferd ool -2

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Encourage : Restrict: :?
oS e aailailfch a alleie —w il 8 0 iU s 35~ ydie (e

S a1 S (J ) Ala s

AT I

A.Gain: success
A€ L S Jiala

B.3{HTd: T
B.Dearth: surplus

B.isra il 8

C.UTgul: fayrg squr
C.Seeing: believing

C.L_S 8y 1higsan

D.@ad ATHT
D.Heart: soul
D.csy:dd



Answer:

35

Answer:

36

B.3HTG: 3MTTYRT
B.Dearth: surplus

B.Csa 3l 2l A S

RO, 3 G Ia Bt faendf i Ricaes i 3n1for @ma Ui aufean BiHeraed, It Sf eresa
STHIHIGR ST <aTd of TRTAT aled & < obid! UT 318, JFel il Hd T TUTe! RMdl TRIR W
SIUYIITS! FiT Ueh UNY ePIebi fHeser?

Generally, it is found that the students are littering their food remains and wrappings in class furniture,
parks and school floors which you think a wrong practice. How would you check them so that they have
a right approach to keep clean the school surroundings?

gy 3 A S JsSul gl e UsSUL i f S GOS8 S ES ) S g Wb S W W m o yshale
O = S S o g ol S Sl ASE S (S S S el Gl - o Jae Bile SO (e Jd Sl s o
50 Ayl o py iy S

AT T HRUTAIER o SqUaNTe! T AT IV Ble! Al-eR faemafar T 38T e TR
HRON

A.Organize a flying group of monitors to see and check the wrong doers

A S pliie 0y R (RSSO S S8 S ) S S olly S Jhle

B.d TIBUIMNTS] Ueha JUaTed] AR SRR UuTT R0l

B.Announcements on assembly ground every day to avoid it
B.olidle) Gae S5 S laand mdl 35l S Jm i )

C. AR, SFT 31T IR 3R feehTuft SerT-Uedi=h awT ot

C.Arrangement of dust-bins in front of class-rooms, parks and other places in the campus
Colaiil IS gy 2 558 el S b )50 Gz S s) 0sSL cas) oS

D. 372 faemeafardt snfife fRram 3o,

D.Make a provision of financial punishment for these students.
D.-02 S Sso)S (S 1w Sl o S Ul )

C.IMIHR, I HTOT URIRTNT SR fEHTo HarI-Uedi=l caaw=T S0t

C.Arrangement of dust-bins in front of class-rooms, parks and other places in the campus
Collaiil 1€ ol 2 568 el S sda 500 (e paasS ) 0sSOL s oS

V400 + /900 + 1600 © Hedd 3 X

The value of 400 + /900 + /1600 is:

;e 5 S 400+ [900 + (1600
R W k|

A. 22



Answer:

37

Answer:

38

B. 90

C.20

D. 28

B. 90

&1 ge3Td I S HTed
Clouds are basically made up of

O i 22 sk el dab

AT 4§

A.Droplets of water
Alustisn S Sb

B.Y5
B.Dust
B.dsa

C.UDIRI
C.Light
C.ds)
D.TTexT T
D.White color
D. &) 2k

AT 4§

A.Droplets of water
Asyisn S S

P =0T gEIHRTE HSHT— R UdTd
Intelligence tests measure intelligence by—

~r % O 58 Uiy (S Cal Gusd Sl

AT S et R 3 &1 Jardt aret §+g

A.Inventorying everything, one has learned
AL G b (S s O o 2 S gaS



Answer:

39

Answer:

B.TWRIM SfIHaced Faid ol fRIemd fARIen de
B.Observing the most difficult learnings, one has encountered
Baqmgﬁjy]dﬁm:»mcé\}:iw:)ﬁ

C.Ri&var 997 997, o Rievare Sdweide qddmeronar det e 3

C.Sampling learnings, which almost everyone has had an opportunity to learn
C.lei e gisn Sl S (€ 5 Ly 8 1S S s ()5l JUisd

D. AT SRR WRa-d Sodd 3107 arjdie fA<teor srol

D.Observing the mass and complexity of one’s neural structure
D.oalie IS Samy S il lac) S 8

D. AT SRR WRa-d ST 3107 arjdie fAteor sror

D.Observing the mass and complexity of one’s neural structure
D.oaline IS Sy S il lac) S 8

IT: feoiedn T e ovTe o STe) Flal.
DIRECTIONS: Find the odd one out from the given alternatives.

oS N S S o e e Jolie 80 e

AA
AA
AA

B.R
B.R
B.R

C.E
C.E
C.E

D.l
D.l
D.I

B.R
B.R
B.R



40

Answer:

41

T 311 351y i IR fEehT01 A ORI YReaTd dhedl 101 o B AT 310l digardt, d 60 ol gR 3iTe. dtan
Tl STSTaT e 4 Tt/ 2 St 3mg. B a1 f3w 1ol UiggH s/, TR Il AT It B IREH 12 foet
R 3t f3@Toft Yed). Jdt Tt (fediam ge) Frer.

Ravi and Ajay start simultaneously from the same place A and reach at place B, 60 km apart. Ravi's
speed is 4 km/hr less than that of Ajay. Ajay, after reaching place B, returns and meets Ravi at a place
12 km away from B. Find the speed (in km/hr) of Ravi.

a0 S Sl sl ) A Sa D0 i K60 sl WS & s gl S e B )l (S o) ) (S ) - i SO
B o) o oS S G S KA B Sa Lyl o Ube gl S Jain n B ol ws) oy S D50 el 12
1S astaa (U ~EieS /e ) 8 (S (55,

A2
A2
A2

B.10
B.10
B.10

C.8
C.8
C.8

D.6
D.6
D.6

C.8
C.8
C.8

fcar: el feara uey guf wiferdsar smenfa 3med. a1 Ude Hifdiehd, HTel 31eR T8I 3MTed. IRy uafg
st ura var 31 31eR eI Uy, Hifeldbdid Rded U 3eR fRasT .

DIRECTION: Questions given below are based on the letter series. In each of these series, some letters
are missing. Select the correct alternative. If more than five letters are missing, select the last five letters
of the series:

Sl Gingm B Ss S G UE) pen —e2i 8 Gipa (S (e . o Jeiie g m Cia O g 2 0 i Culy
= S oa wlh g A



Answer:

42

A.dabce
A.dabce
A.dabce

B.eabcd
B.eabcd
B.eabcd

C.edcba
C.edcba
C.edcba

D.cdeab
D.cdeab
D.cdeab

D.cdeab
D.cdeab
D.cdeab

SR AT YghTaTel fRad e UIeivard Sficqed Mg 30T qie! dTe JHeT BRINE qHd! SUHRU oY,
FIRASR 3fUT feg! Te aue GuaMId! df o< I4 daddl, gie! a1 AreiRarudl R BRI Jebl der
Tq?

If your colleague takes interest in blue films and convinces you to lend him your appliances like, VCR
and TV set along with your house, how could you escape from this awkward situation?

D Sy 5 S sl s s Y il @il ile S 58l SOl gl o leS ) (maly (e g salb ol il S TR
o S g S e I e e Gl Gl S S BSJIE S

A. ! Tl UedTd &1 grel a1 dTadid ATl Had & [dhd Ale!

A.You will convince him that you can’t extend your help in this matter
A =S S G e (S Gl O ae e Gl A8 K S Bl

B.JReTA AN 331 4e ghaddl Adsd BRUI JHATHS ITdl AT THR SuarTe! g & Argt

B.You will like to postpone his wish as you do not have enough courage to refuse him directly
B. = i Ahass pe A ol S 8 e Gl ol ) AS0sS S Gala US (ssile S Rl A (S el

C. T IHICTR Fifawdt sifaer idht aresTdr, T Hde IR a1 HRuATd 3raHY 3Rar arqe
w1 el FHR T

C.You are very afraid of illegal acts, therefore unable to manage cassettes etc. in turn you refuse him
Cuom 0 S e ol G ) 0l O 5 S G ol S0 85 S 1] e 503 o0 e 03alS 5l 2

D.TETA AT FATITA AT AT HIGHT ST Sifvraifawdt arse arcd

D.You will feel sorry on his vicious feelings and emotions in this age.
D.- 5 oS Cusmadl y lda [l Slaloa) 33d Sl e e ol




Answer: A JF1 T YCdTd o JrT AT STedid T Had b= Qehd ATgl

A.You will convince him that you can’t extend your help in this matter
A =S S G e (S Gl O ae alra Gl A8 K (S Q8 il

43 e gut 3quifes 3M1fOT T g A HTa &9 TR 85/66 318, I 3qUNd B

The positive difference between a positive proper fraction and its reciprocal is 85/66. The fraction is:

C“)‘H‘S-85/666‘L§~)§QT\:AOIT~‘AJJEJS}HJEUH‘J}\)ASQL\“JJ@A:

A.3/10
A.3/10
A.3/10

B.6/11
B.6/11
B.6/11

C.4/13
C.4/13
C.4/13

D.5/9
D.5/9
D.5/9

Answer: B.6/11

B.6/11
B.6/11
44 BRI Xsar faegrdf 2rsg Hivrr 2
A IARG
B.Fdg
C.XTgTon
D gfSHH

Answer: B.ﬁﬁ?g{



45 SR ETeid Weg it U G IRMTHR ATSUR &,
(1) Host

(2) Haphazard

(3) Haste

(4) Hang

(5) Handkerchief

DIRECTIONS: Arrange the following words according to the English Dictionary.
(1) Host
(2) Haphazard
(3) Haste

(4) Hang

(5) Handkerchief

- S e S Ll i s jaie Gl S il (5 S0 bl
(1) Host
(2) Haphazard
(3) Haste

(4) Hang

(5) Handkerchief

A5,4,2, 31
A5,4,2, 31
A5,4,2, 3,1

D3,2,1,5,4
D3,2,1,5,4
D3,2,1,5,4

Answer: A5,4,2, 3,1
Ab5,4,2, 3,1
A5,4,2 3,1
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Answer:

U Gd T SIHhTaR §9d SH0T BT YUl UTg ehd HTel, ATHes, Al aRAR ST ITd, UTgTal Sfor
ST, AT STac SIHIaR AT 3R JHHAHT A1 gidlt. I faemata sreauikse™ gl HIod

3FIA HIGTA?

A child is a back-bencher and is unable to watch the black-board clearly, therefore, he stands, sees and
sits repeatedly. It disturbs the nearby class-mates, what inference will you draw with reference to the
student’s difficulty?

U3 = UeSa (o Ui 1568 Db Jlies 3d (o pald e _6Sas sk mals S350 SOl o) o W g il leas aa S
@SB am Sl s s S)lsha (Sale s« o (s Sl g S Uil S 0DIS S Gy Gl ol - o Bl

Z

=

AT T8 HHOR 3R

A.The child has poor eye-sight
A= QA Lkl (S

B. T Sled e 1Y 3 Rl
B.The child may has defective eyes
B. = S 5 alli ¢ (S s

C.THeTaR YHTRITET aHehdl TR fadd SRy Al
C.The black-board may has shining effect of light
C. = U 5o il 1S San (S (i) 3y Sl

D.4d Tle! ®Rd 3T
D.The child is creating mischief.
D.-= by S @)l am

AT €8 HHOR 318

A.The child has poor eye-sight
A= QA bl (S
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Answer:

48

TIT: Weltd Hifed! dTesaigdd ardT TOT WTetd Ui S :

I.A, B, C, D, E, F, G 30 H HF3HR Fud UehT agaTd saad 313 T Sed.
II. F 8T D 2T dhTed ISTeT STSlall 3Tg o, B 8T E <1 deblos SIAT STS[all 313,
lIl. A ST C =T fdbdl H =01 TR S¥cIdl ATg! SHTOT A BT H <1 —ISTRY UU7 T8,

IV. E 3HTFOT H, C =T STS[el Sl 3MTed.

G Tt Rl BT 3182

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C, D, E, F, Gand H are eight friends sitting in a circle facing the centre.

Il. F is on the immediate right of D while B is on the immediate left of E.

lll. Ais sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

What is the position of G?

o s S ol K 0 a5l o5y e ey S Claglae i s ke bl
|52 8. Ge Fe Ee De Ce Be A D3l H - 6 o0 S ¢ ik (S 38 e (e o i SO
- F 2 osh o# D sSas b (i _SB n sk B E - o csh b S
M-A$~5C o SH s ol lian SAcH =t s S

IV-E L' H U552 C -on 80 i Jio S

G WS luyn S

AF T STdIhg AT
A.Fourth to the left of F
A Fldss —»oih S

B.B =1 S/dids faa™T
B.Third to the left of B
B.B | i — b S

C.B =1 Iudihs faeR
C.Third to the right of B
C.B It —w il S

D.D &1 SAidhs g VM
D.Second to the left of D
DD \)u}dcuu.\:\‘ﬁé

D.D &1 SMdidhs g VM
D.Second to the left of D
DD \)u}dcuu.\:\\ﬁé

“TENDENTIOUS’ U WAl e 0! HI0Td Jeg TR ol oS, Adhd ATald?
Which of the following words cannot be formed from ‘TENDENTIOUS’?

Lt o€ s e BN o s )3t "TENDENTIOUS' € = BSeuls LWl (o



A.INTENTION
A.INTENTION
A.INTENTION

B.DENTIST
B.DENTIST
B.DENTIST

C.TENT
C.TENT
C.TENT

D.STUDENT
D.STUDENT
D.STUDENT

Answer: A.INTENTION
A.INTENTION
A.INTENTION

49 Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Anouncment
B.Achievement
C.Advertisement

D.Appearance

Answer: A.Anouncment

50 SR AR T Bed, draan [Uaest Ted, fidere ars! Bed, Tardidr AT Bed, e Teg
STHST Teed U1 TSG STTHHTAT SITHST T8 dl. dR el W HIUAT STd?

If orange is called red, red is called yellow, yellow is called pink, pink is called blue, blue is called violet
and violet is called purple. What will be the colour of a banana?

5 LS K, I8 IS lalS giala € by sl (o8 o€ M Sl S (O (D8 €055 ea)) S ¢ e pm S (Sl R

A fUgest
A.Yellow
AL



B.Pink
B.08
C.cld
C.Red
C.zo~
Dt
D.Blue
D.3s
Answer: B.ﬂT’I'ITSﬁ
B.Pink
B.>XK
51 Grefiel Add [H=d, 912 5 < 50°< £, T
In the figure below, if s < 50°< t, then:
10 S5 < 50°< LLST ifae i
A.t<80
B.s+1t<130
C.50<t<80
D.t>80
Answer: D.t>80
52 o oS BT 0@ 91 TReTd ARG 3118
Jean Piaget a well-known psychologist of in origin
e = OUS 3la3 1S Cnaly (s Sladi yle g 2
Asd
A.Dutch

Azs



B.;Rag
B.Swiss
B.owi s

c IR
C.Russian
C.es

D fordtar
D.British
D.s sy

Answer: B.fag
B.Swiss
B.owd s

53 32 AT TS T THT THAF I 6D TS AL w41 2 VATEIS et 7 Arereter?

In what time the simple interest on a sum of money be gof the principal with
rate of interest 33?

1By oo ity 5 gl éﬂuﬁs3% e 3,?43-“33*“){.‘3#5)34‘&' oS Jeol

. 9 years

.9dy
.9 Jw

> > >

o8]

. 6 years

6ay
6 Jus

W W

. 12 years

129y
12 Jus

000

O

. 15 years

15 a%
D. 15 Jw

O

Answer: C. 12 years

12Ty
12 Ju

OO0



54 &P TGTHE, Hef TS YRV o] dIR bl Sl:

In a pitcher plant, the pitcher is made by modification of

ERURE]
B.branches
B. ;L

C3d

C.stem
C.l

D.%d

D.flower
D. Js&

Answer: AU
A.leaf
A &
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I S1dqul Uik At sruarret, @t faaed! (P), (Q) (R), (S) Sf0T (T) & U el ARG Srsha™
T HT; AR ATeid Wi ST .

P. STaeAT TTUATe JHaTd dat.

Q. g A 1% Q.

R. SleglT IdesdTedT T Tl dbail.

S. dieTd diordl JH el U3 Udh HIdes] FTSTaR aedrd Pl dTfgal.
T. A PHIaT QR AT,

JREAT FedHaR WTeiterdes! iurd arad Urad R-d?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the FIFTH sentence after rearrangement?

ostex @l o) i ly (P)e (Q)¢ (R)< (S) ush (T) wstlsm =8 20 2 sy Siapd o sy A S iy |y e b S
Qe S

P 5,8 W8 S K,

Q. e Bl S S,

R. S S 8 S S g5l

S. el 3 A iy Gne e )5S LS S5 5500 S,
T Vo Ghsd S G Gy pa3 ) S,

s L |l alea Lu oS aay S 3 caw i jlagd

AQ
AQ
AQ

B.S
B.S
B.S

C.R
C.R
C.R

D.T
D.T
D.T



Answer:

56

AQ
A.Q
A.Q

T : Wl GAD GYTd & faem | 3707 1 feaiet 318 d. B fau™ UdhaR Tadd HRUT 3 [ehdld fdhar ¥
HRUTY URUTH 3R XehaTd. At U faU gav faurran ufikom SRy xrsbd. el faur arar for
WA HIVAT SR A1 T Glve! fauHHed daei quiH odl d 32T,

ICEIGE

|. GV gShISIRd YRTHT SHTeTal Uddl SOl =g Aad HRUANIS] IRPRD G AIGRA HRUATd
31yra faa.

II. SIS U HISAT YHTUIT Rl G- T DHRId 3HTgd HTTOT Fiear e« Uriol i SR
31g.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

I. The Prime Minister has visited the draught affected areas and promised government assistance to
help the farmers.

Il. A large number of farmers in the draught affected areas have been suffering and are unable to feed
their Families.

by 5 e Jlsm g o 1l | ool 11T 80 iy mon 800 0 s o &8 S Cllsas a1 e b lasas o))
O A S Gl ga S 8 0 2 S (S alead gl a5y by (ssa o S 5 31 1S 2 s Gl Sl s (e iy
.SBJS%LECNJJF,L)SLBMO\%‘JJCSQM.\THU)A}J

k| | Y
oS silos O S ) ia a8 OS5 1S 0 )53 18 o Be o e ww dond S alie) 5
||_U¥¢ELS:|)S¢JGSL§U)3\A5&C}3\UJJ\GIJMKQMA\Mﬁngﬂ\éUﬁLSwUﬁk b).\\_u:.u.l:.;é

A TS | HRUT 317 30T faem 11 e aRomH 38,

A.Statement | is the cause and statement Il is its effect.
Al e g | e Gl Dyl o s - 28 S

B.laY™ 1| HRUT 31 31for faem= | = ukume 3118,
B.Statement Il is the cause and statement | is its effect.
B. s gl 1l s Gl ol o~ |- =8 S Gl

C.TaYT | 31107 11 ST W HRUN 3R,

C.Both the statements | and Il are independent causes.
C. <lbby gsisa | o) 1l -on Slisa s A



Answer:

57

Answer:

58

D.faum | 3101 11 T} PIe! Mg SR URUMH 3Ted.

D.Both the statements | and Il are effects of some common cause.
D. Cllu sisa | osh Il -om @l Al S s S (S

D.faum | 3101 11 SI6T P8l WM SR URUMH 3MTed.

D.Both the statements | and Il are effects of some common cause.
D. Cllu osisa | osh Il -om @l A S s S (S

B.HSY
C.TToR}
D.UTER

c.aroft

TIT: Weltd Hifed! dTebuigdd ardl SHTfOT Wt Ui ST :

I.A, B, C, D, E, F, G 30l H HaRHR §ud U1 agaTd s 313 3 Sed.
[I. F 8T D =4l deched 3ol dlvell &I'I%FR, B &l E &I dched STl STl 311%
1. A 8T C =1 fdbal H =01 YUR Sl ATe! 3101 A 81 H 91 ISR 90T Tal.

IV. E 3HTFOT H, C =T STS[el S9eidl 3Ted.

SR A 30T E SR Siealaca dbRdld add, F 30T H gl did

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C, D, E, F, G and H are eight friends sitting in a circle facing the centre.

Il. F is on the immediate right of D while B is on the immediate left of E.

lll. Ais sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

If A and E interchange places and same for F and H, then

o s S ol K 0 a5l o5y e 0ad S Claslae i A ke bl
[cos2 8. Ge Fe Ec De Ce Be A D3l H - =6 o0 =S ¢ ik (S 38 e (e o i SO
- F 2 osh u# D sSas b (i _SB n sk B E - o csh b S
M-A$~5C e SH s ol dlian SAcH = b s S

IV-E U3l H 050 C - —ein oo do S

NA DSNE zob o ol o du o8 I F s Hoe 58 e

A3 TR, G 3T C § F =T STofa 3HTed
A.G and C are adjacentto F

A.G LsIC « F e do S



Answer:

59

Answer:

60

B3 @R, D 30T B § A =T ST[ell 3Ted
B.D and B are adjacent to A

B.D Ul Be A o 0 dra S

C.E BT A 1 YHR Sl 161
C.E is not sitting opposite A

C.E A = ldn g i S

D.H BT F 21 YHR S8l gl
D.H is not sitting opposite F

D.H:«F = s oyt allae S

A.3RTd R, G 30T C § F =T STl 3Med
A.G and C are adjacentto F
AG sC «F up e S

_‘.pl-_h.'l
o
|
=3}
Il
-

A. 35

B. 26

C. 40

D. 42

B. 26

AR REHR 1 HIUTAT &A1 far Sl —

The Oscar Prize is given in the field of —

= Ul b e e S

ARFAmr
A.Films

Ak
B.TABTRAT

B.Journalism
B..otia

il S



Answer:
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Answer:

62

C.oaA
C.Writing
C. Kl

D g PIvIds! 8!

D.None of these
D.uy 2SO

ARFAmr
A.Films

Al

T §id U9 TR H Hd—
A ball-pen acts on the principle of—

S USAS deal S om

A.JSSTaRI
A.Surface tension
AL S oadas) (RS il )

B. & @IHYUl

B.Gravitation
B. &) (pidhy g X)

Cc.ad grsl
C.Both of the above
C. Usis = ux O

D T Thg! Tl

D.None of these
D. b s &S oo )

C.a3d Eil%l
C.Both of the above
C. usis = e

TG T SATY YibTarid ST HHSTd e T gral $Hd ddadl Sl
A child regarding the world as a dangerous place has experienced.

= WS e pa IS B Slijhad ) shay (latie s Lid 5 e gy S



A STAYUT 3{TITd

A.childhood trauma
Arera S (s

B. TR fgaaR

B.domestic violence
B.oaii sl 568

C.araIfR
C.Bullying

C.LSJJE ail's
D.aiau®! Id

D.all of above
D.e Yoz 0

Answer: D.aﬁ?ﬁﬁ ﬂa‘

D.all of above
D.ses Yz 2
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Answer:

I YD URATAT U T fAUMilead IR fau siied Sai=mard! a, b, ¢, 30T d 3 IR fau™ e
HHAR fAumR St RaeT samed wr faum gu=an faumre gaad, onftr gl faum afdamesean
faymTEIed Afed e,

ST 3T TS fhaT gMes 378,
A. d BT 3R,
B. d &1 ATal.
C. d & 3Tg.
D. d &5 ATal.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

It is either dark or cloudy
A. ltis dark

B. It is not dark

C. ltis cloudy

D. It is not cloudy

sia S UsSes Sluia sl (g R 58wl S (63 ) i e laa Jla aaySia o ales Sl e JVg p uly
op Githe S gl S e Ahie e 90 5ol by Se il gl (S Alea 2 jugd Abea Sy L

op b b ol S~
A= 1 ai

B L il
Cuondbm-
Dox st db -

A.AC
A.AC
A.AC

B.DA
B.DA
B.DA

C.CB
C.CB
C.CB

D.AB
D.AB
D.AB

B.DA
B.DA
B.DA
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Answer:

65

Answer:

Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.
Sameer said. “| am very busy now.”

A.Sameer said that he was very busy then.
B.Sameer said that he was very busy now.
C.Sameer said that he were being very busy then.

D.Sameer says that he is very busy now.

A.Sameer said that he was very busy then.

HRAK AT 3 FRRR Hivrd?

Name the highest peak of the Himalayas in India

S 0o Al S il (e s g ol

A2
AK2
A. K2

B.HNEC. TG
B.Mt. Everest
B. G sl Cuisle

C.HI3C. el

C.Mt. Kanchenjunga
C. Kinini€ gl

D.H3e. dafiik
D.Mt. Dhaulagiri
D.cs )RY san &uigila

A2
AK2
A. K2



66 (238+131)7 +(238-131)° _

238x 238 131 =13

Solve 1238+ 131)7 +(238-131)° _
238238+ 131 131

(238+ 1317 +(238- 1317
T 2323|1311

oS Jo

Answer: B.2



67

I S1dqul Uik At sruarret, @t faaed! (P), (Q) (R), (S) Sf0T (T) & U el ARG Srsha™
T HT; AR ATeid Wi ST .

P. STaeAT TTUATEl JHdTd dat.

Q. FIgeaM A 1% Q.

R. SleglT dTdesdTedT T Tl o,

S. dlerd diordl gH el U Udh D] FTSTaR aedrd Pl dTfgal.
T. A PHIaT QR AT,

R BedaR WIaieie! BHIvid g ufed Sa?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the FIRST sentence after rearrangement?

ostex @l o) i bly (P)e (Q)¢ (R)¢ (S) ush (T) wstlsm =8 20 2 sy o Siapd o sy A S iy |y e b S
Gl S

P 5,8 W8 S K,

Q. @2 Bl S S,

R. S i S 8 S S g5l

S. el 3 A i ne e )5S LS S5 5500 S,
T Vs Ghsd S G Gy pa3 ) S,

?lele b)?‘ é‘{:‘m L U)S A CS C‘:.’A ‘—‘:‘:‘)“ "JL.'}J

AS
AS
AS

B.P
B.P
B.P

C.R
C.R
C.R

D.Q
D.Q
D.Q



Answer: A.S
A.S
A.S

68 YR IS § YR JToh gld.

Raghuram Rajan was the former of India.

'CG—..‘ LB"L"" é Ou'“‘}i‘:’ L').;‘J P\J}Gg)

A TeTHA

A.Prime Minister
Apbel n)s

BTyl

B.President
B.oyxa

C. s

C.CAG
Ce> o) (o™

D g0t BIurag! et

D.None of these
D.od P58 = e O

Answer: D.??I'i'aﬁ W :l'l'tapf

D.None of these
D.ox 258 U O

69 THUT Sfavid UfAfSaiaTa!, U= fHRue IIgd S STaRad 3e—
For total internal reflection, ray of light has to pass through —

.dlﬁ;h‘)‘)ﬁcu ﬁ&wé‘fﬁj‘)‘:ﬂéw&&‘fj‘)x‘w

AP o Troft

A.Glass to water
Ao Sh e il

B.Ur0fl d &=
B.Water to glass

B.ope mid e A



Answer:
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C.gar d uroft
C.Air to water
Coome by s

D.8A1d BTE
D.Air to Glass
D.use ~dind il s

A B d Troft

A.Glass to water

AT : T faaiedT U9 STl faum o Fret ey siied. [rH=ara: Jd duiue o aies SR a)
fEareht faum qreTar I Aa anTdie SMfdl AR fededt faumre srwHRu fdemiet Hiorr ey
b esed Hrdl o BT,

faem

S=A<P>RsT<U

fshy -

. U>A

I.S<T

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statement:
S=A<P>R=sT<U
Conclusions:

. U>A

I.S<T

e gl S Eilis s s jshdle S Gl 81 s s il g2 2 S il g2 o ) dd aa e il
3 st Alahie aati L sS WS L (e i ~S (G )S Alad € il ol gy ) oSy e e il K 0ol o 58 K S
=S Gan S ey K,

il
S=A<P>R=sT<U
il

U>A .l

S<T.l

Aad | sy TRT 38

A.Only conclusion | is true



Answer:
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Answer:

72

B.Wad Il fAshd @R 3img

B.Only conclusion Il is true
B.raiii Caya || o s 0

C.| fhar 1| It T fweny @R 3

C.Either conclusion | or Il is true
CLILI = oy aagis

D.1 911§ arglel sy ¥R et
D.Neither Conclusion | nor Il is true
[DFPEPAY PP | R ELINELPN N

D.1 911§ arglel sy ¥ Aretd
D.Neither Conclusion | nor Il is true
[DFPEPAY IPEPRY | RGN N

BIEIESE 1 AT FIR® 3178 —
The Sanchi Stupa is a monument dedicated to —

daﬁadﬂ\uﬁa‘)\gdtﬁé La_;'m\@;u

AR ud
A.Hinduism

A gy

B.deq U
B.Buddhism

B.cue s

c.oT g

C.Jainism
C.w

D.gfUeh! PIvIde! el

D.None of these
D.uwd DS e )

B. &t
B.Buddhism

B.cwaxn

HTOT T WG [T JHFTT Teg HI0IAT 2

A.3TY



Answer:
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Answer:

74

Answer:

B. 3T
c.fea
D.3ffgd

c.fea

TR1&701 AFERIRGET I HEY 38

Education psychology includes

= s Jald Gae i aglad

A MTaH®

A.emotional
A Sa

B.gMHI®

B.social
B.alew

C.IIMTHB
C.cognitive
C..S

D. a0t Id

D.all of above
D.e¥hz 2

D. a0t Id

D.all of above
D.e¥h z 0

1Y 31T ST ehad fead of SR --meme-

ASIR
B.Udd

Cuqx
ARG

D.farfas
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Answer:

76

Reea srpdiredia sredia area Sl dear s 3e:

The maximum number of squares in the given figure is:

= Maaioal) —wodb) S lx el S e & ok
s e =T e e
D.9
A. 10
B.13
C.14
C.14
HEEIESEE] Y 318

Howrah Station is in —

= o Ot 1355k

A BIABTAT
A.Kolkata
JIRELNPS

B. TR
B.Gandhinagar
B. % aal&

C.3gHH
C.Andaman
C.ok

D.HIUTe
D.Bhopal
D.dbse



Answer:
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INCAREARII
A.Kolkata
ALK

e sifyul ufvese fafor sxvarrd), wred faaedt (P), (Q) (R), (S) 3MfT (T) 81 Urel a1 Trg3rgsh e
QR RI; iR @Teitel Y8 TR .

P. FIaaT TUgTel JHaTd b,

Q. HIMH I 2% .

R. IRl HIacHTedT AT ¥t de.

S. digrd diial Jhel 93 U Hldos] TSR U BHlegl Ul
T. W PTdesT QR el

TREHT HedHaR WIieie! HIvNd e guv 3rRa?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the SECOND sentence after rearrangement?

ostex @ i (P)e (Q)¢ (R)e (S) s (T) sl =8 28 o e o i i o jlasn 8 S s o e bt S
—aalas S

P LS 5 a Wl 5. S

Q. 3V R oy S S,

R, S chomi S J8 So S 65l

S. L Ly r B ) iy (e wie ) S LeSan 5 35 S,
Ts Gisd S omcind) S,

e Ul mgadaa b g€ a0 S S yis b

AR
AR
AR

B.Q
B.Q
B.Q

C.S
C.S
C.S



D.T

D.T
D.T
Answer: A.R
AR
AR
78 SHIA Y A= i?bcblUII('H \ﬂ\ISUII-LII c1|$rv<-|c1| o Uldld.

Lines joining places of equal
temperature are called

=i ls S oY s 5 S Usda S A o b

A FHATA
A.lsotherms
Ap e sl

B.IHHT
B.Isomers
B.ow e saail

C.GHI®!

C.Isohyets
C.otil gustl

D.JHHR
D.Isobars
D._bswl

Answer: A FHATA
A.lsotherms
Ap e sl

79 E%ZUFWWMS:7W?ﬁ&ﬂ%ﬂ.ﬁ?wqﬁﬁ?ﬁ483€[3@ﬁ,ﬂ?ﬁ?mdlvﬁtﬂﬁme¢ BT
?

The sides of a triangle are in the ratio 4 : 5 : 7. If its perimeter is 48 inch, then what is the difference
between its two bigger sides?

= B0 LS ey S ik 55 00h ) 50 Sl 55 ozl 48 Ablal Sl 1w e il S 7 15 14 Gk (S Gilie S



A123q
A.12 inch

A.12g!

B.6 3d
B.6 inch
B.6g!

C43d
C.4 inch
C. 4

D.23d
D.2 inch
D.2g

Answer: B.6 3?[
B.6 inch
B.6z!

80 fafay TwHTaaReeT=r YA 9 IRER-fa Tite! U disdl Udd ddid 3HRa dfddHd 9.

The combination and interaction of various traits forms a personality that is unique to each individual
except one.

.Ja\:\ydujgd)muu;&\)e};dé)swuﬁw;iﬂ&hﬁ)}\mﬁ_’mﬁu\aﬁcuﬁu

AT

A.cardinal

A.adac
B.&4d

B.central
B.s S

C.g@H
C.secondary
C.sst

D.faaH

D.tertiary
D.S aa 2 o s

Answer: D.faaw

D.tertiary
D.\S s o ot
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Answer:

82

Answer:

83

gites! I i sreame wifge o

Which among these is a dimensional teaching aid

e ) (S i alai O S e G )

ADIB S

A.black board
A3 s Sl

B.USH Had

B.display board
B35 s

c.leR (®fie)
C.pictures (shit)
C.ud) s sbst)

D7

D.model
D.J5w

D.AHAT
D.model
D.J5

Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Who did this work?

A.Who have done this work?
B.This work has been done by who?
C.By whom was this work done?

D.This work have been done by whom?

C.By whom was this work done?

98 x98-76x76="7
98 x98-76x76="7

98 x98 -76 x 76 =7?



A.3164
A.3164
A.3164

B.3828
B.3828
B.3828

C.3900
C.3900
C.3900

D.4000
D.4000
D.4000

Answer: B.3828
B.3828
B.3828

84 110 T4 9 1.10 H =N UMRR =2Mem
Find the ratio of 110 cm to 1.10 m?

110 S S aslee i S i 1,10 ALl S flae (i

A1:10
A1:10
A1:10

B.1:11
B.1:11
B.1:11

C.1:1
C.1:1
C.1:1

D.10:1
D.10:1
D.10:1

Answer: C.1:1
C.1:1
C.A1:1
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Answer:

86

TR UiAers 25 . i arerd e, STdids aesar Sfor 15 .Y, arerd Ta. o 41 STdlds aesar 3for 35
{5 . Traa. daR o Ioidids daa SO YTTal. 3MTdl AR dis HIvrT faRIer 3mg?

Amar walked 25km towards west, took a left turn and walked 15km. He again took a left turn and
walked 35km. He then took a right turn and stopped. Now he was facing in which direction?

gres e Al 35 5l 156 cuila (il sy oo bisd e sl 15 5l 150 ila il Ly da S slS 25 ila (S ie il
i Ly da e o oS 05l L8 S 5) 150 ails (il

ATEH
A.West
A

B.d

B.East
B.3 5w

C.af&mr
C.South
C.osa

D.3™M
D.North
D.dWi

C.af&mr
C.South
C.osa

A.367 feag
A.367 Days
A.36700

B.365 faayg
B.365 Days
B.3650°

C.364 faaq
C.364 days
C.36402



D TTeiicites! HIvTag et

D.None of These
D.osd &S = e O

Answer: B.365 faad
B.365 Days
B.3650:
87 R1e/ Th U Gd B4 3Ny AHhdl?

How can a teacher detect a malnutritioned child?

¢ oS S0l 1S sy g S S cuilie € M) Sy

A3 UTdest S SOl
A.low energy level

AL Gt o (S (2
B. X[ Waagdd dl

B.dry scaly skin
| SJE\ENGPI FENLEN

C.aFUe! HIUE et

C.none of the two
C.ui P8 o 00

D.(a) d (b)
D.(a) and (b)
D.(a) us\(b)
Answer: D.(a)d (b)
D.(a) and (b)
D.(a) us\(b)
88 (\/4)1/2 =9
(V)2 =2
? = (N4)!7?
A2
A2

A.2
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Answer:

B.5
B.5
B.5

CA2
CA2
CA2

D.4
D.4
D.4

CA2
CA2
CA2

HfFIHG TEAR DIV S Slfdeh gehdl THTT 3dr?

Which two biological factors have influence on personality structure?

fom S8 Dl S cali (S Cuadd dalge (Alils 0 o

A.3MAIRIB
A.genetic

B.dRIIRWR]
B.hereditary
B.ss0

C.(a)d (b)
C.(a) and (b)
C.(a) us(b) uss

D . HIUIAEY gt

D.none
D. o &S

C.(a)d (b)
C.(a) and (b)
C.(a) s'(b) usise
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Answer:
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SR ! ResHe AUl SR A, ST Mo JRATEATIS Tl ST STt UIgudiT SHTUvary
IITTd, TR Tre! g fofg s e

If you are coming to school regularly by car, when the school-principal has asked you to attend to some
school-guest, how would you take your decision?

S e 6558 S Olage 8 U5 (o€ el nmg 3 S s S Sl 5 e 3 Sl il S (Sl S 8
€ S S S Alead Ll ey 38 S

A. %! TS ABR T HRUT Saidl YT HIVAMT! off Teb ol AATa!

A.You refuse straight-forward as it is not a taxi to entertain others
A= o oS8 (S o S i (S st e SIS G e S IS o)

B. R aa:dT 3T RYcHid UTeTal &1 gl o AThRe g Xbd ATg] 1dhdl Al URdTd Wb R &1 eeTal
CICEREI]

B.You neither find yourself in a position to refuse nor do you like to accept the offer.

B.-up e LS dsd Uiy o (o i on Sl ome G)s S S8 U S0 Sai Gl

C. IR T TR a1 UG el e
C.You suggest him to arrange a taxi
Coop 2 o) sha 18 S o) 1S (s SOl Gagdl

D. TR RIarg it axiarar 3MfoT [MMes=a1 UTgudiAl Had oI
D.You be a good sport and help the school-guest
D. 28 S 230 (S ape S dSl s S0 S U Uiy

D. TR RIarg gl axiara SMifur [MMes=a1 Urguai-l Had Hid
D.You be a good sport and help the school-guest
D. S (S 23 (S lepn S ISl 5l S ol S s Sl

e GHTSHdT g S

Probability of any event is always

ey (Al g g3 (S A2dlg g (S

ATR 0T 3 YUT U Uad! fohar mien ot 3rd

A.non negative but less than or equal to one
A S LS e SO 8 (lie e

B.aRdfde T 1 U& a8 319d
B.a real number less than 1
B. 2e 88s SOl S K

C.-1 3101 1 A 3R

C.lies between -1 and 1
C.1 ol S1 00



Answer:
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Answer:

93

D.0 d 1 IR 317d
D.lies between 0 to 1
D.0 e <1 —

D.0 d 1 G-I 31d
D.lies between 0 to 1
D.0O ol <1 —

Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Accommodation
B.Sepearate
C.Seigge

D.Succesfull

A.Accommodation

SR qEAT MUY R U TS R 3iTg ST YMd deduAdh fSeugH Sid. greTal 3=t eidd
MYy TSl R STAIBUINIS! BT BTN ATaSA?

If there is a great problem of discipline in your school which disrupts the routine of the school. What
would you like to do to deal with such an utter chaos?

iy (S b Gl oo S S (i Jsere S IS i o Al 15 o IS a5 pas (e J Sl Sl R
SOl LSLS Gl o S s

AT 1 GERT! Sreldl HRU (AUEH Brerd

A.You will thrash-out the reasons for this problem

B. IR GRITETUH =0T IRAMIH R A Focid HId T ATdid Haaid drehRuvl sHaeeauft
CNN|

B.You will organize the discipline committee with the permission of the principal and implement its rules
strictly

B.2S i S AY (il 8 S () gl S it gl 8 Gl FineS i Sl el (S et

C. TR ST Ul TTeTRi Huds WreTa ST Afedr JHi-Rg T §-qd gu=a1 9HaR (a0 fesquarar
Ud HrId.

C.You indulge in one group of gangsters and try to control another trouble making group with its support
C.uidsS (S S8 Js S 8y 8 s 58w ()l sdn e 23e (S O sl B U Sisle il S @5 8RS S slaary
Sl




D. T faaR &R1d Bt giel A Wad RIGTAUIrTST SMTeT SHIETd, el 101 HedTurT I&01 HRUGST AATg!

D.You think that you are here only to teach, not for guarding the peace and welfare.
Dot A =S GRS S s 5 2 sl el eom N S w5y e dp ol o dd S

Answer: B.d%! JBATHATIS AT AT R Gt Gucid o1 3for Ardted Rawidt Sreah Ry sideesiaui
DRI

B.You will organize the discipline committee with the permission of the principal and implement its rules
strictly

B.S S SY il S Gl gl S i ) 8 il (S el SOl S jlal (S Jpsi

94 e o ot T - o R

Answer: A HTT

95 L R1gBTeA UG Haid SuH Al WUl dl— 378
The best statement of the position of the teacher in the class-room is that he is—

=03 ~S O oie S Gl (Sl (e p gy eS—

AJTCTHT A&
A.The chairman of the group
Ao i S g R

B.7TeT fAewrs

B.The director of the group
B. SIS s K

C.IICHT U Ha¥™
C.One member of the group
Caa Sl 1S 5 £

PRIEINECRIED

D.The director of the group
D. 58 G S



Answer: B. 7Tl fAdRia
B.The director of the group
B. S5 s R

96 17-30 TUNTCTAIS ol 320 T STl STuaTH! YT 3.

Individual in the age group of 17-30 years is likely to be known as.

17-30 & la Ula s sk (S sk sl il S 3 S oy e S Jlu

Ao dd dTe AT Jd
A.toddler
A sl Som Uls

B.foreikad=
B.teenager
B. Ul s

oXspauleiS
C.young adult
C.ludsms

D.Adqlld
D.new born
D.oxil j g

Answer: C.T3U Wie
C.young adult
C.ib sy

97 WAl 3 AT BT 2

Al SR e,
B.l SoR Tel.
C.dll §oR B,
D.dl §oR 31Tg.

Answer: A B} AT,
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Answer:

99

T e T aies o STe) Plal.
DIRECTIONS: Find the odd one out from the given alternatives.

XU S S o e e ol K8 s

AT}
A.CAP
Ans

B.pgran eiuy/ fam
B.WIG
B.L;

c.ot
C.HAT
C.lw

D. SIS
D.SHOE
D.ts

D. SIS
D.SHOE
D.s

I fecien waiam e arg yafg fHasr.
THT GATGR GH JHIAR PIY HedlaR fdbdl qhbs HBdd?

DIRECTION: Select the correct alternative from the given choices.
How many pieces are obtained by making two parallel cuts on a cube?

S Gl S Jalie asia —w pe LA 8 s culy
Sum s deals o 58 S I ES G5 2 5 S S

A.2
A2
A2

B.3
B.3
B.3

C4
C4
C4
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D.5
D.5
D.5

B.3
B.3
B.3

T WTeid ATfed! dsiydd ardT ST @Telid gy 3 o

I.A, B, C, D, E, F, G 30l H $SNHR F9d UehT agaTd Said 313 T 8.
Il. F el D &l dh[ad oA CISW] G‘H%T‘R, B B E &I dh[cd ST CISW] 3‘”%
1. A BT C =T fdhal H =1 GAR THoaT ATe! 0T A 8T H T RISIRT 9ol ATa!.

IV. E 3TfOT H, C =T SIS[ell Sl 3MTed.

TTefIeiep! PV Ib 3MR?

|. F 8T G T db |5 SHAIdhs 318,

Il. AT D =T dhTxd Ioldidh s 38,

I11. H 30T D T =T THRITHR T¥feie 3MTgd.

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C,D, E, F GandH are eight friends sitting in a circle facing the centre.

Il. F is on the immediate right of D while B is on the immediate left of E.

lll. Ais sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

Which of the following is wrong?

I. F is to the immediate left of G

Il. A'is to the immediate right of D.

Ill. H and D are sitting opposite each other.

o Sl S ol R a5l o 5y e glad S Slagles Jid s ke il
s & - Ge Fe Ee De Ce Be A sl H - el 0 S ¢ ik S 3 a e e il oS
- F 2 osh o8 D ASas b (il SB p sk )o@ E - o cash b S
M-AS~SC o SH s 2@ @ldn SACH = od sk S

IV-E U3l H usis C - —n ope o S

fhle oS e ) A i

I-F 2 osh o8 G- o b b S

- A 2 sk 68D - = b gl S

N-H o8 D-on S et Allie S a0 KO

AT |
A.Only |
A.s pa |

B.%dos ||
B.Only I
B.Ciya |
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Answer:

C. %I I

C.Only 11l
C.ciya Il

D.J4 |, 11 IO I
D.AIl'L, Il and Il

D.csgas [ 11 s

D.J4 |, 11 3{Tfor I
D.AIl'L, Il and Il
D.sess I 11 sl I

I feoie yataimyd Teh EArenT Wes st
YR g feeai=it FRTeia Siig ST utfehearT:

DIRECTIONS: Choose the analogous word from the given alternatives.
India is related to Delhi in the way as Pakistan is related to:

= o e 150&593;51&)@}‘/_—“‘5@3&)15&)@-

A TR
A.Karachi
A S

B.2MHIdIG
B.lslamabad
B. 24l a3

C.URmaR

C.Peshawar
C. o

D.AER
D.Lahore
D. usY

B.SIMHIdTG
B.Islamabad
B. 2Ll a3l



102 2 G&Y 3107 3 G T 1 10 feadid = abdld o 3 Y&V 3101 2 Gof ddl b1H 8 feadid odrd, 2 Iy
3TFOT 1 G o o1 el feaaia sea?

2 men and 3 boys can do a work in 10 days while 3 men and 2 boys can do a work in 8 days. In how
many days, can 2 men and 1 boy do the same work?

2 2 68 on S S e (08 S S S SHI2 sl (el Bl i S8 S e (2 10 S A8 S _S3I3 5l (e
T S e g5 K3

A1
A1
A1

B.12.5
B.12.5
B.12.5

C.12
C.12
C.A12

D.14
D.14
D.14

Answer: B.12.5
B.12.5
B.12.5

103 fiig X U GoaTd e, STad 15 Hard Uiy feR9 arerd ar. at Sidies gesan sfdr 20 Hex aread .
IR dl STdids gadd AMOT 15 Hicx aTad L. TR df Sodidhs desdl T 12 Hiex Arad Tal. 3TdT X
foig UREA S bt did 3182

Starting from the point X, Jayant walked 15 m towards west. He turned left and walked 20 m. He then
turned left and walked 15 m. After this he turned to his right and walked 12 m. How far is now Jayant
from X?

~si X 15 s 150 0l segos e SO e 20 sl 150 0ibos e SO e 15 Gyl (S e Cia (S S S E b
G i Dla SO fe 12 5l 13 b Gl il g S el Dl S35 i X o )50 (S8

A.32 |t
A.32m
A.32 e

B.47 HI.
B.47 m
B.47 i



C.42 |t
C42m
C.42 fia

D.27 HI.
D.27 m
D.27 fw

Answer: A.32 H.
A.32m
A.32 fie

104 FHH U eIl SMERM § 81 Idhd

Low protein diet results in

= U i IS S5 g g oS

A.3STET 34T
A.lack of energy

A S

B. {R[SIYU
B.weakness
B.sos S

Cdle
C.growth
C.sa

BXCRINECARSE]

D.all of above
D.gs Yoz 2

Answer: D.W ¥I71|c
D.all of above
D.st Yoz 0



105

Answer:

T @l sieR-T=arT HaRT FRRieur &3 3T @relia Ui ST o
B84CRMO9PDKWFA2EJ7XUQHLTY6GS

SR IWRIGd HaRITT Yfgdll YT Idc haM fefgatal SRd S0 gIRT U YUT Idc HHM feffgaar sRid ok
DIUIG &R a1 Y& STdie g 31aRTdl 3d?

DIRECTION: Study the following letter-number arrangement and answer the question given below:
B84CRMOPDKWFA2EJ7XUQHLTY6GS

If the first half of the above arrangement is written in reverse order followed by the second half-written in
reverse order, which letter/number will be eighteenth from left?

Pl Sadlsw sl w5t B (S o sl Ga (S0 e s il
B84CRMO9PDKWFA2EJ7XUQHLTYG6GS

Ciua ) il S ae Y 5 s LS B e Wl AT aay Sl s (oS g sk N anl Y (S ) R
PRGNS

AY
AY
AY

B.K
B.K
B.K

C.7
C.7
C.7

D. Tt BIvTciE ATl

D.None of these

AY
AY
AY



106 U] Heamdia 5 T ao gehd 15 5. 7., 5 7. 7, o f%. 7., 56 f%. ¥ 960 . 7. omeq. a1 peam
TR g @Tel ([, ..

The weights of 5 members of a family are 15 kg, 5 kg, 9 kg, 56 kg and 60 kg. Find the average weight of
the family (in kg).

15 0o S 3 5 S glula SUKG,5KG, 5KG, 9KG, 56KG, B0KG-E 5 LS ¢35 James) 1S 3l S olaila .

A.50
A.50
A.50

B.29
B.29
B.29

C.14
C.14
C.14

D.54
D.54
D.54

Answer: B.29
B.29
B.29
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Answer:

I YA URATAT U T fAUMiiead IR faum siied Sai=mard! a, b, ¢, 30T d 3 IR fau™ e
HHAR fAumR St RaeT samed wm faum gu=an faumrer gaad, onftr gl faum afbamesean
faymTEIed AfSd e,

SR UISHd USdl, O H T 31 U
A. UT%HY A 3R

B. W Us o4t fadd gad g

C. U139 Usd ATal

D. i &0 fasd gaa Aret

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If it rains , | will bring an Umbrella
A. ltis raining

B. | have bought an umbrella

C. It is not raining

D. I have not bought an umbrella

in S s fes Sluie paand g K S _wdlh S (63 ) cme co ) daa s anSia s ales SOl Ui Iyl
op Githe S gl S e GBhie e 93 59l by So Ll ol (S alea 2 jugd alea Sy (L

B UsY Gies um 58 = s Uik S
A= o Bl

Bus W e e
Cuso s oms Uik -

Dusn WY (g i e -

A.AB
A.AB
A.AB

B.BD
B.BD
B.BD

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

A.AB
A.AB
A.AB
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Answer:

PABRIdlGdc s JqI IS 37

Kalahari Desert is in the continent of —

= e pbe) y S R ESPPR NI

A 3R™T
A.Asia
ALy

B.QRIU

B.Europe
B.cs

C.3hih]
C.Africa
C.~& 5l
D.3{fecferan

D.Australia
D.LL sl

C. 3BTl
C.Africa
C .~y i)

‘37T DT HUr IT ATRARTE 37 B 2

A.3{THl B0l
B.SIE&IGR] o0l
C.3{TIaRT A HIeUl
D9} R0l

B.SETEGR] TIea0l
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Answer:
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F1ERT: gt Uite! Ui UHTd U IRSAT TTGTe 3HTg. HIferddT =TT SHe &l 3M1f07 3y wie fAae.
4,7,11,18,29,47, ......., 123,199

DIRECTION: In each of the following questions one number is missing in the series. You have to
understand the pattern of the series and insert the number.

4,7,11,18, 29,47, ....... , 123, 199
= UnseS b S et il ) o lgnan S zom oo S0 20238 5 SOl S 7 e (e Vg 0 S dis iyl

4,7,11,18, 29,47, ....... , 123, 199

A.76
A.76
A.76

B.70
B.70
B.70

C.84
C.84
C.84

D.102
D.102
D.102

A.76
A.76
A.76

q¥ fadbdrds I TSR U STa0! 3MTed. Ulgedl he"RHe GUTH! CadbdR] 80% 31T 3101 o=
HeRAY UM TIHART 60% 35, SR AT Ul de-RAtd 28 Y 3101 o deAvAsha 32 faer gy
T &ol, R T FAyumeie gUrel caharl &1 3f¥d__

A milkman has two types of milk solutions. In the first container the percentage of milk is 80% and in the
second container the percentage of milk is 60%. If he mixes 28 liters of milk of the first container to the
32 liters of milk of the second container, then the percentage of milk in the mixture is___

Wtﬁdamgé\SAa}awcéLy}a)}\d%SO A._\.mmdA‘Aﬁ\SAJ}JU:\AC}i;i_)\.c:.md_gj\st‘)k5Jw\ﬁéc‘\};\d}d
B dad S i IS 2250 (e 50 —Dhe 5123 D (e S 32 S 8 & susange A28 3 ooy S %60

A.63.99
A.63.99
A.63.99
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Answer:

B.69.33
B.69.33
B.69.33

C.72.5
C.72.5
C.72.5

D.75.2
D.75.2
D.75.2

B.69.33
B.69.33
B.69.33

Wretate! Fafd [aT Ui KN
Find the largest of the following fractions:

S U el (550 s —w 03e 3eS i s i

A17/23
A17/23
AA17/23

B.27/33
B.27/33
B.27/33

C.37/43
C.37/43
C.37/43

D.47/53
D.47/53
D.47/53

D.47/53
D.47/53
D.47/53



113 5,8, 11, 14, ... Hifcidbdd fdaean 3IhUTd Ug 323 3178 ?
Which term of the series 5, 8, 11, 14, ...... is 3237

5,8 11,14, ...... 323 ¢ o L oS ay (S s

A.108d
A.108th
A. 10805

B.107d
B.107th
B.1070)5

C.106d
C.106th
C.1060)s

D.54d
D.54th
D.54\s

Answer: B.107d
B.107th
B.1070\s

114 feTddienT 3ie -

CRYOGENICS is —

A.CTHE T UHR
A.A type of tank
ASIE S i S

B.FHH! AIOHMIG G0 ST g1 3

B.Study of materials and phenomena at low temperature
B.axldas IS ol e 5l sl gy Cjla a3 oS

c fs3iufdes gewmian 3narg

C.Study of Radioactive elements
C.raldas S juslic o) 5%

D.UT0eh! Uphe! el

D.None of these
D.oss P5S — e O



Answer: B.&H! dTIHMIT G4 SfOT ge-ar 3

B.Study of materials and phenomena at low temperature
Bl 1S 250 ) disdise sy )l a a2 oS

115 LI W wyiae fodiedn qatardeT Jeftid sieR/RsaRe fHasT.

49:81:64:7

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

49 :81::64:7

49 :81::64:7

A.36
A.36
A.36

B.100
B.100
B.100

C.121
C.121
C.121

D.144
D.144
D.144

Answer: B.100
B.100
B.100

116 WW:%WWWWW—
Mushrooms can’t make their own food because -

WS35 - 5 U i S8 ) S ) 255 s e



Answer:

117

A.d U I8 3RIdrd
A.They are too small
A O S Sy Spes

B. I FARIb e 34T 3!
B.They lack chlorophyll

B. = s oS S Jis)sK Gl

C. i BICI-gIfuSa 3UTd &l
C.They lack photo-tropism
C.= i oS (S a5 55 el

D. i UTult JMYUT HRUTMTST esian 3TUTd Sl
D.They lack roots to suck water
D. =k e S b i nay S (S (S usaes

B. I TR 3(HTd 3l
B.They lack chlorophyll

B. = s oS S Jis)s (il

T Tl feae fauri(A) S SRUT (R) A18T, WTeiid Ut g ugig fAasT:

faum (A): T8 9T 3 IHedTd Had Bld.
HRUT (R): HIS GTT0T 0Tl Scha-id aradl.

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): Adding salt helps in boiling food.

Reason (R): Adding salt increases the boiling point of water.

(in o) ol € i3 i 1003) (A) D3 (R) 0208 s e mam o (e b n i 2 S s

Ol (A): -t e 330 e )5S S e 38 s S
a5 (R): - Uise adlal ae J) adaii S il 5 S Jal S

AT (A) 30T (R) T 3MTed 3101 (R) (A) ° TG TFTHT 315
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A.(A) U3 (R) L) oy a5 (R) (A) = Csbiay a3 (S

B.aIgt ()3 (R) W 3113, TR (R) (A) T AT THHRT AT
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B.(A) 05 (R) 5 cop gemm 05152 (R) (A) = o abias o 2 (S

C.A) U 3¢, W (R) Wie 3118
C.(A) is true, but (R) is false
C.(A) & ¢z gwna (R) =z Bl



D.(A) WIC 3T, U3 (R) T 318
D.(A) is false, but (R) is true
D.(A) 54« = Bk (R) = e

Answer: AT (A) 30T (R) T 3Ted 30T (R) (A) T TRY TPIHRT 3778
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A.(A) U3 (R) sl on e 05352 (R) (A) = nbiay a3 (S

118 PG Y T 3M8?

Which statement is true?

¢ s s ) ol L S

AINRISTA G 3ffdg SR

A.A line segment has two end points

A, Op s S i) 5y S Eine Y S
B.XYIRESTAT Sfdg A4gdrd

B.A line segment has no end points

B. - s oy S el S Gl (Y S

C XV U 3ffag Syl

C.A line has one end point
Co- o iy A5G (alia) S S i (Y S

D XN G 3fdfdg Sdrd

D.A line has two end points
D.-oy s S a0 S ¥ K

Answer: AXVTEETAT G ffdg Srdrd.

A.A line segment has two end points
A Oy s OG5y S Eud Y S

119 WU B0 JRITHENT LR 3MT]?
Which of the following is a city in Europe?

$ 0 Qus opd SOl LS e dd 0

A STraferan

A.Brasilia
AL



B. g Al
B.New York
B.<<_b s

c.afeH
C.Berlin
C.idxn

D. &S
D.Beijing
D. Sy

Answer: cafel
C.Berlin
C.olxn

120 SR +Fgu -, - FRUS K, x FgOIS =, AT ' FRUEAY O 7=3+2-3+5x%10

If + means'-’, '-"means %', x means =, and '+’ means't, then 10x5+3-2+3=7
10x5+3-2+3=7 8+ Qb= gl = Cllaay ' callaa 0 L s + 8

A5

B.2

C.7

D. 18

Answer: A.5

121 T e T aTes o STeR Plal.
DIRECTIONS: Find the odd one out from the given alternatives.

S G S S o e e Jilie K ian

A3
A3
A3

B.4
B.4
B.4



Answer:

122

C5
C.5
C.5

D.9
D.9
D.9

B.4
B.4
B.4

faem:

FHar -
|. ShaPIGR=I Uie=dT dTe-TidT dTuR HHT BRI,

Il. I%HIQV«IICI YA HRAMT AT FIBdl ﬂacdlﬁ'ﬂd{ CERINIE

Statement:
Number of road accidents in Himalayas are increasing due to poor visibility in snow.

Course of actions:
I. Discourage use of white vehicles during snowfall.
Il. Ban all vehicles except red from entering Himalayas.

ok
s 20 0 aad (S Gl S 5 (e mller s an g (S g oSl 3 (e g L8l

Jae AaaY:
|l s (S 5 lasa (S 38 Jleaiaad JL38 w0 S sl
o B iy 5y aly S (538 ol (ihodle S a0, Y (e il -

ATd | SR 318
A.Only | follows

A Cipal| B o &Y

B || 3ARUI Hxd 3T
B.Only Il follows

B. ciym Il & 5 &Y

C.UDHR | fval 1| SITERA 318

C.Either | or Il follows
C.ALIK 5 SY Sy e



Answer:

123

D.1 fhaT 1| SEI0®! BIale! SR HRd TG

D.Neither | nor Il follows
Dol osh -8 5 KY o SS —w e

ATHd | SR 3Tg
A.Only | follows

A Gpal| B 5 &Y

T WTeid ATfed! dHTosydds ardT ST WTeid gy 3 o

I.A, B, C, D, E, F, G 30l H $ENHR §9d UehT agaTd Sl 313 T 38
II. F 8T D =T dechTed 3ol dTvcTl G‘H%T‘R, B &l E &I dched STAT dT9cdl G‘I'I%
IIl. A 8T C =1 fhal H =01 TR S9aiall ATg! 31707 A 8T H 91 ISR 907 T8 1.

IV. E 3TfOT H, C =T SIS[ell Sl Mg d.

WTed Uh! HIVIAIHI0A GG MTea?

. D 8T E &7 STdidhs e 31T%.

II. D 8T E &1 ISdIdhs UTedl 317G

1. A 3TfOT F UehAeh =aT dTo[ell Tad.

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C,D, E, F GandH are eight friends sitting in a circle facing the centre.

Il. F is on the immediate right of D while B is on the immediate left of E.

lll. A'is sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

Which of the following is/are correct?

I. D is third to the left of E.

Il. D is fifth to the right of E.

lll. A and F are adjacent to each other.

o s S ol K 0 2 sl o5y e glad S Cilaglae i3 ke il
s 53 651 - Ge Fe E¢ De Ce Be A U5l H o e s S ¢ ik (S 58 e (e 2 s SO
- F 2 osh cu# D sSas b (i _SB n sk g)BE - o csh b S

- A 525 C ot S H sl o e e SA CH o i o S

IV-E L3 H U552 C -up = o dao S

Sl = 3 OS w 0pe did ~a p2e

1D ¢ E )l o il S

1D ¢ E - Usale o il S

M-A DS F oy S o o 2 s SO

AHIS |
A.Only |
A.< pa |

B.%d ||
B.Only Il
B.Ciya |l



Answer:

124

C. 5 | 3|
C.Only I and Il
C.cypal il

D.Hdas |1 3ATT 111
D.Only Il and Il
D.<apall L3 I

C.FHacs | 3T I
C.Onlyland Il
C.ayal il

AT I1 UAS GYHE G [AUFFR GiF 5B Jard ST | SIOT 11 31 3ifdd Pl 31T, ST JrErgqoy
AR 3R AIERIeR J@d A9 axl ATid [T SRISR 3Ted 3 JHSH qHd TG IR [orgT.
e

T4 BTG YHUH FHRT.

DTa! YHUH HIUIR dTe- =1 HIATEH Sed.
e

|Hésgauﬁmﬁ@&’r§&ﬂéﬁ
II. BTET qTS ST WebTg 3R,

DIRECTION: In each of these questions, two statements are followed by two conclusions numbered |
and Il. Assume the given statements to be true, even if they seem to be of variance with commonly
known facts and then mark your answer as.

Statements:
All players are smokers.
Some smokers are wine-addicts.

Conclusions:
I. All smokers are players.
[l. Some wine-addicts are smokers.

e a9 3 S by 5 e e SOl e e Ol | ) 11 e S mlad G gy S clily 8 gn K
S8 20 i lsa Wyl (ildae S Gl g sl g S Ll ey S Blis pglae sk ale o5 aa R

bl
o Uit Sl (5508 alad
opedle Sl s Sl gaS

da:
|, -0 @3NS s Sl ol
. -on i sShad ale Sl b gas



ASR $aes sy | fRgd /e

A.If only conclusion | follows
A Copal U S 54Hm

B.SR $da fAwpy || fud sraeumy.

B.If only conclusion Il follows
B <o pa || = B S 55 m

C.SR gt fwpy fHud eryeams.
C.If both the conclusions follow
Coon SSsm by

D.SR glg! fAsd | 31for 11 fFrea Taea,
D.If neither | nor Il follows
D.snlnmll =S som

Answer: B.SR ®de AwpY || fFud e,

B.If only conclusion Il follows
B <o pa || = B S 5 5m

125

feaear smpdlred el |leia smear

How many squares are there in the given figure?

TUs0 () A p U S o (S ass

A7
B. 12
C.10

D.8

Answer: C.10

126 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
My boss asked me to account for the failure of my team in achieving the annual sales target.



Answer:

127

Answer:

128

A fight for
B.answer for
C.dream for

D.attack for

B.answer for

Out of the four alternatives, choose the one which can be substituted for the given words/sentence.
The study of human societies and cultures and their development

A.Anthropology
B.Calligraphy
C.Choreography

D.Physiotherapy

A.Anthropology

JaTere qayd U 31

The basic elements of communication are—

AFd 3o Ut

A.The Source and the Receiver
A_ ode}ij}\ .JALA

B.AYSR 3o fefiegr

B.The Messenger and the Receiver
B. 021 Jsay o) Gl alay

C.Ia 3Mfor I=d

C.The Source and the Channel
C. Jus )y L

D.a3d Id
D.All of the above
D. e Yb a2



Answer: AFd 3o Ut

A.The Source and the Receiver
A_ ade}ij}\ .JALQ

129 T T WecTa! Heft AT,

AT+
B.A + 3
CAS + Y4

DA+ 334

Answer: BA + 3

130 Pledh il IRRTGR 3R o FiHT YIRT Y0ITd Had Hd.

present on the body of insects help them to breathe.

o =S % (e i el S O e 35350 ams S (538,

ATdd
A.Gills
A. 15K

B.4TI!

B.Tracheae

Bk S L

C.HTRY
C.Spiracles
C. dSeilanl) 2 1€ il i)

D.PUGHY

D.Lungs
D. o e

Answer: C.YRRY
C.Spiracles
C. dill) wea S il i)



131 TIT: feoiedn Taiige ovTe o STo) Flal.
DIRECTIONS: Find the odd one out from the given alternatives.

5RO S S o e e ol K8 e

A.MOLN14
A.MOLN14
A.MOLN14

B.QSPR18
B.QSPR18
B.QSPR18

C.XZWY25
C.XZWY25
C.XZWY25

D.RPSQ17
D.RPSQ17
D.RPSQ17

Answer: D.RPSQ17
D.RPSQ17
D.RPSQ17

132 IR HadT HART 81 Y 3T

The Leaning Tower of Pisa is in —

Afseq
A.Britain
Al

B. W1
B.France
B.owl_s

C.gcat
C.ltaly
C..b

D.fagRs

D.Switzerland
D3l ) 3ism



Answer: C.Ef?ﬁ

C.ltaly
C..8

133 PR R=grear el Fora HeR Far 9Ear Asa?
Which letter or number will replace question mark?

o JuE Al sie L LIS

AP
B.N
C.Q

D.L

Answer: C.Q

134 B 8T D T YIS, 31Tg. D 1 E <t 9810l 31Tg. E 81 F I1 4TS 3T, {7 F o B Iidd ATd BT 3A1g?
B is brother of D. D is sister of E. E is brother of F. How is F related to B?

DB e S ED mon oS FE o oiler S FISB ¢ i, 1S

A HISH
A.Brother
A. .

B.dgIul
B.Sister
B.ow.

C.YTS, fdoar waium

C.Brother or Sister
C.orlb e

D .U ! Uhe! -Ta!

D.None of these
D.us 258 =m0 O



Answer:  C.HTS fdar sgioT

C.Brother or Sister
C.orb S

135 fr&er: Aferet guf 1
A?,1,0,U
DIRECTION: Complete the series
A7?,1,0,U
58 JSSa S 7o ol iy

A ?,1,0,U

AE
AE
AE

B.M
B.M
B.M

C.O
C.0O
C.O

D.P
D.P
D.P

Answer: A.E
A.E
A.E

136 fordar wom gy Reea aeqd waTde Shee s

DIRECTIONS: Find the water image of the object given in the question
figure.

PQBAFS5BZ9

AERTE RSSO EEE AR



(A) bG8VE2BZd
(B) bHEVE2BI6

(C) bO8YASBI9

(D) bO8VE2BXa

Answer: (D) b®H8VL2BI9

137 AHRIGIATG! JHTSTAT 5 3G FUol—
A basic ideal of a democratic society is—

= s e 1S o yllas (5 ) s S—

AAHEdH da
A.Powerful leadership
Acald gl

B. A= HdiHed fayrg
B.Belief in the opinions of the leaders

B.os i 2 S oslkely)

C.JH TEITgIT 3MMeRHTa

C.Respect for the enlightened individual
C.elial 2 Sajddua ods)

D.“¥B ¥d STl Irg Bl
D.“Might makes right”
D. = LS Soet 428 o cilly”

Answer: C I TadIgTat 3eIHT

C.Respect for the enlightened individual
C.olial ol a8 Jua o)

138 TTelTer feeredT T METe HF .

Find out mlssmg number from the following given options.
NP A L S F = P

/\/\

A. 27




Answer:

139

Answer:

B. 35

C. 54

D. 64

B. 35

T WTeid Alfed! dHIosydd ardT ST @Teid gy 3 &

I.A, B, C, D, E, F, G 30l H $SNHR §9d UehT agaTd Sl 313 T 38
II. F 8T D =T dechTed 3ufoUT dTvcTl G‘H%HT, B &l E &I dchTed STAT dT9cdl 3‘”%
IIl. A ST C =T fdbal H =01 TR S¥aIdl ATe! SO A 8T H o1 —ISTRY U7 ATg.

IV. E 3TfOT H, C =T SIS[ell Sl Mg d.

WU ST G TSl Tad TSR 3Tgd?

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C,D, E, F, GandH are eight friends sitting in a circle facing the centre.

Il. F is on the immediate right of D while B is on the immediate left of E.

lll. A'is sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

Which of the following are two pairs of adjacent members?

o Sl S ol R sl g 5y glad S Slashes Jid ke il

[ <5265 . Ge Fe Ec De Ce Be A D3l H - e S0 oS 3 Cioba (S 38 e (ne o i SO
l-F 52 osk oA D S b gl _SB o osh g)# E - o ik oib S

A 5 C ot s S H sl Wiy s SA  H s i s S

IV-E U3l H usis C oo —n upe S S

Sun a3 30 S Olosen u B OS e ) a2k

A.AF 301 BC
A.AF and BC
AAF s BC

B.FH 31T BG
B.FH and BG
B.FH ,, BG

C.AG 310 CE
C.AG and CE
C.AG _s CE

D.BG 3 AG
D.BG and AG
D.BG L3 AG

C.AG 31101 CE
C.AG and CE
C.AG Ly CE



140 29 Yhemed fifHe SHIedigR H1 S g9ddT Sral?

What angle is made by minute hand in 29 sec.?

29 ¢ 2 L )3 LaisS s gms (S e (e S8

AAT°
AA7°
AAT7°

B.2.9°
B.2.9°
B.2.9°

C.29°
C.29°
C.29°

D.26°
D.26°
D.26°

Answer: B.2.9°
B.2.9°
B.2.9°

141 T 3R 919 378 STl TXGHI T8 10T ST STu.

is something that has mass and occupies space.

= B oyl b5 0558 e

Agerd
A.Matter
A. i

B.Y9q
B.Solid
B.owseS

C.ad
C.Liquid
C. &k



D.9dg
D.Gas

D. £

Answer: A.‘:IET?—f
A.Matter

A. Aw

142 AT AU o s TR aeTit it 434 3ig. fa ) Tt gatd dem e Qe
Sum of the squares of three consecutive natural numbers is 434. Find the smallest number of the three:

wﬁwxjmﬁ}ﬁ:&uﬂwuﬁid434ww\5&yéﬁ\x\éJ£Mmugﬁ

A1
AN
A1

B.12
B.12
B.12

C.15
C.15
C.15

D.21
D.21
D.21

Answer: A.11
A.11
A.11

143 ] TGNUT (WR)A T 3T —
The Unit of noise pollution (level) is—

= i () Qs S Kol (S )i

A SRIEd
A.Decibel
A.Jusss



Answer:

144

Answer:

145

B.GQRMHIH
B.Decimal
B.Jamud

c.ut diwm

C.Ppm
Colrw

MENKECIRC RG]

D.None of the above
D.od 255 = 0 O

ASREd
A.Decibel
A.Jud

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.
The game was abandoned at half-time because of the poor weather conditions.

A.Discontinued
B.Continued
C.Initiated

D.Played

A.Discontinued

HEAT: WA AT, PR ﬁrmzm,ﬁmmmﬁ HITOT HTTH T
b, Premdf st svarer srei frrs ol e gabe

DIRECTIONS: In the following figure, the triangle represents Teachers, the
circle represents Students and the rectangle represants Actors. Which
number represents Teachers who are also Students and Actors?

_;\_,':'—'}‘_‘5._'..,‘_,'5_-:"—' "_.'.'-’i"-’l'.":_*';},_:&—z'dr,;ﬁ-i—"—.-".;:‘-&J—"'J.-_"'J""' sy
Ttk S99 ol e Bl g K LG KB LS 15 B € 09 O
2
3
1
5 4
- B
- r
A.3
B.6
C.5



Answer: C.5

146 SiogT SledTd Y5 SiTd Sl HIUT U TeTall gial 01 gorai?
What part of the eye gets inflamed and becomes pink when dust gets into it?

S oSl s F S sl o Sl s ot mas S S¢S 8 e JAI (e 590 J a0

A AT

A.Conjunctiva
Al 5855

B.UR Ucd
B.Cornea
B.Li,sS

C3Ifd ued
C.Choroid
C.a, s

D.Xdd Ued
D.Sclerotic
D. K55 sl

Answer: INCEEGL

A.Conjunctiva
Al sSas

147 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘Asleep at the switch’ in the sentence given below?
The security guard fell asleep at the switch and a robber broke in.

A.Failed to do one's duty at the proper time.
B.Discharged one’s duties with utmost sincerity
C.Wanted to sleep on a comfortable bed

D.None of the above

Answer: A.Failed to do one's duty at the proper time.



148 RTH T TGO " AT I Siea Uet Geitdl GerT g9, T R e Ald H1?

Ram said to Shyam, "You are the son of the daughter of the wife of my father". Then who is Shyam of
Ram?

WIS S ol ki s i S e (S S Gl e oS wdld Sl

A D[DT

A.Uncle
A ba

B.Ydudi
B.Nephew

B.lxile

C.HId8
C.Sibling
Corlbsle

D.HTHT

D.Maternal uncle
D.Ll

Answer: B.Jdudi
B.Nephew

B.lxile

149 T A fedien S FaeAmy afdbaesed YETa uatg fRdsT, )R ddw TeT e e,
4 XWGUTh! ATAD SR,

Td TP Adih 3RIdTd.

DIRECTION: Select the alternative that logically follows from the two given statements, but not from one
statement alone.

All cooks are drivers.

All drivers are dancers.

'Uﬁ‘;“c“d@dﬁ‘éﬁ‘L}s‘-"“g‘é‘bé“&umJJc‘ngPUﬂﬁde@°}‘L”L‘:‘

. L

- O3 (2 0sk e
ok st 0k

sup il ) el 53 e

A4 Tde 3MTed.
A.All dancers are drivers
A-O 580 )8 uaill g



B.Td WUUTH! Tddh 3MTed.
B.All cooks are dancers
B.-us mailS (o2 )5l ot

C.PIUdTe! WAUTH! A e,
C.No cook is dancer
Coom o S a5k (S 5S

D1 (A) 30T (B)
D.Both (A) and (B)
D.usise (A) L5 (B)

Answer: B.9d TG b 3.
B.All cooks are dancers
B.-uy w13 2 sb (g

150 fRigrepTet TTufies SeaTaaRt — fawdl sred
The teacher’s primary responsibility lies in—

= o ol ol aed o3l (S Slal—

A e srgHara e ol

A.Planning educational experiences

A.Ga msain (S Dl jad oagled

B.4IRUTTel SHTaSIault SATFOI URITE Hul
B.Implementing and administering policies
B.L_S alkaiil 5l LS SY S saanlly

C.UTAH g AHA! ATS T Tieg ot
C.Promoting human relations with parents

C.lin § 5 oS cililad il gilee S Gl

D.fRrefomean daifawdt v oy

D.Experimenting with teaching techniques
Dt il S S (S G

Answer: A e srgvara e or

A.Planning educational experiences
AGa mpaie (S Dl cadlsd



151

Answer:

152

feaicl sreameed : g - M +, T4 3fds 2 3101 4; W4 + 2 - 8 F Yo fohell 2

Given interchanges: signs — and +, and numbers 2 and 4; then the value of 4 + 2 — 8 is

ﬁd\ﬁé8-2+4}354j‘5\2)943)3\c+)‘5\-&L1LAm.r_:EJL.\SC;SC‘\:\A

A4
A4
A4

B.6
B.6
B.6

ga! Alforar werReds fdhar T g1 U3 arel auiH HRUgNIT! 3.

Pseudo logia fantastica or mythomania term is to describe.

o LS S S Jlentias) 1S 3 al Liza sgisn Ly IS EES L) 3o

A frar-sear sifarfar

A.compulsive disorder
A& Ao

B.XdHY Hdl
B.autistic child
B.—b Jua S sy

c.ldgs ga
C.violent child

C.rzw 220

D it BIurde! et

D.none of the above
D.oyd oS o Yoz 0



Answer: A forar-degT sifardarn
A.compulsive disorder
ASA o

153 P, ST, Bic a1 Id 3med
Cobol, Java, Fortran are all —

o i Ol s dsla e Js S

A Sf&T 3=t ST
A.Tribes of South America
AdE S & 8 gl

B. TR UIUTTHT Sidoist
B.Computer Programming languages
Bl oS Sl 855 isuaS

c.fafay yeaar SHrdi=ar Hie

C.Languages of various nomadic tribes
C.orb) S B8 G5 Ala daaia

D T} BHIvIE el

D.None of these
D.os &S = g O

Answer: B.h X PRI EE ]

B.Computer Programming languages
B.usl) S Sl S5 sismaS
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Answer:

I YA URATAT Uoh T fAUMiiead IR fau siied Sai=mard! a, b, ¢, 30T d 3 IR fau™ e
HHAR faumR St RaeT samed wn fau gu=a faumre gaad, onftr gl faum afbemesean
faymTEIad AfSd .

SR T IR 07 fesTel, TR del vas s
A. Tl IR 70T Tl

B. HdT UaxT fHesTeln

C. TET IATQ T[0T et et

D. HaT YaxT HesTar Argt

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If | score well ,I will get admission.
A. | scored well

B. I got admission

C. I did not score well

D. I did not get admission

in S s fes Sluie paand g R S i S (63 ) cue co ) dea s an | Sia s ales SOl Ui Iyl
op Githae S ol S e Ghhie e 93 59l by So Ll ol (S Alea 2 juigd alea Sy (L

B s donlals gne 5 piai gal o K
A i el e

BLS Jo Alaly gaa -

Cl L i el 2 e -

DM (s il _ga

A.AB
A.AB
A.AB

B.BD
B.BD
B.BD

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

A.AB
A.AB
A.AB
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Answer:

O TS FYATE 37 3 O HiE FaraT Stenl BT wdy . §Aw dey agerea S
EAffEeeT AT, WoiT Tde oOTor STER RIS ST ol T aee slafites wa. dvg
TeteTea HaTH W TEAT AT FE.

DIRECTION: The question below has three items having certam relationship among them The same

relationship is expressed by sets of circles, each circle representing onez item imespective ofits size. Match
the iterns with right set of circles.

s a3 8 B 1S S gl g il il e S 7 AT g i Jlsan b5 nzydisiculy
S S Cuwn 3 papily o8 A5 8 WS aiilai 3 A0 Gl phi ghi aw il ayily g oo Ul LS ulls GleF

s gl
(A) (B) <) (D) (E)

Fivers, Canals, Perennial source of water.

~mgh Joiuis B gdlyagd ol

A A

B.B

C.C

D.E

D.E
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Answer:

Ty ole A, SqEUTEed UF TRaT g T8 Wge STecdid ACIEW, TOWaT R/AT
Iea¥ WAl fEedr FEE. = AN Jo TR Ieaw ATFAr e

DIRECTIONS: In the following question, a problem figure matrix is given with one or
more terms missing, followed by four/five answer figures. Find the correct answer
figure that will replace?

_n.n_!J__i-__:_.-..:n._. _-\Ju"_ ::)..Ia...a.'.lll.l‘_'-:_._.{i _=_.._S-J. o= ‘_’_;I-.J__.al.:{'..l'z e i_é__r;;.!_f_’l P _rj_.__n.li de et 2Ll
%]

88 1a8e oy B b s - g B
o ) e ol o O S B A o i i BT e (Y e LE -

W At 1
Question Figure:
:_S__"l Al e

@om;im{}n‘l} i s
I ATHAT:

Answer Figures:

58 ale>
OB | O | o ]
(A) (B) (C) (D)

A A

B.B

C.C

D.D

B.B



157 fder: geie WA, FIUTEN ITAT IFAT TeF e AR o7 Fa?

DIRECTIONS: In the following gquestions, which answer figure will complete the
pattern in the guestion figure?

‘Tf = R VLT _E.l.i\ Al 2 _.‘.ﬂ\:._.é e lOE pdl S oWl 08 aa e il

W AT
Question Figure:

i atls

XX

S LHADAT:
Answer Figures:

3853 ale>

<«
~

<
el

1} (2) 3) {4

Answer; (a)1

158 fedarey a1 wearan fasgrif We HIordr 2

AgY
B.fedfeide®
c.fled=g
D.fgerst

Answer: AgGE



159 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in
meaning to the underlined word from the given options.
Shiva was deeply wounded by the treachery of his close relatives and old friends.

A.Loyalty
B.Betrayal
C.Disloyalty

D.Duplicity

Answer: A.Loyalty

160 A= el Yegiht difches HHITIR ATSURt &,
1. dR_W
2. giad
3. 914y
4. JfmTaR
5. a1
6. for=IRTa=AT

DIRECTIONS: Arrange the following in a logical order.
1. Puberty

2. Adulthood

3. Childhood

4. Infancy

5. Senescence

6. Adolescence

-0 S e 5S D aa ke e i Gllale SO il
1, el

2. &

4 Jlsa

5. s

6. siS

A2,46,3,1,5
A2,4,6,3,1,5
A2,4,6,3,1,5

B4,3,1,6,2,5
B4,3,1,6,2,5
B4,3,1,6,2,5



C4,3,6,2,1,5
C4,3,6,2,1,5
C4,3,6,2,1,5

’

D.5,6,2, 3,4, 1
D.5,6,2, 3,4, 1
D.5,6,2, 3,4, 1

Answer: B4,3,1,6,2,5
B4,3,1,6,2,5
B4,3,1,6,2,5

161 ﬁr&at@mwmﬁ,mmﬁwﬁwmﬁmmﬁmam

DIRECTIONS: In the following guestion, a series of figures are given. Select from
amongst the alternatives one set of groups into which the figures can be classified.

U ARES iTie O e L SIS Gy A e e Sfalie B en eSS R L e Jlge 00 aoaie Culap

o Sala S e g E By 4

O[] «|rolalal=>|+

[{)] (2} 3y @ {3} L] i (&) (4]

B. 3,8,4;,9,2,6;7,1,5
C.4,7,3,96,2;51,8
D.4,92;517;3,8,6

A.51,7,3,24;96,8

Answer:  B. 3,8,4;9,2,6;7,1,5

162 SR gl UTeidh STagR SR Yol STa9R gIUgrE! eyl
If both parents are left handed chances of having left handed baby are

sl S e sl Gl S ISH 6 G e el ol cpalls sisa R

A.0.68
A.0.68
A.0.68

B.0.5
B.0.5
B.0.5



Answer:
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C.R1aqdl A6l
C.no chance
C.ux 2l (S sS

DA
D.1
D.1

B.0.5
B.0.5
B.0.5

T erfguf ufvwse o sxuamre!, @rel faad (P), (Q) (R), (S) TN (T) B UM aidd ARSI
T BT, AR ATeid T ST .

P. STaeT OIS JHdTd dai.

Q. HaeH TS €1 faa.

R. SIeglH HIaeHT=dT M- I doeil.

S. dlerd Hierdl gH el U3 Udh HIdes] STSIaR e dical dligal.
T. Tl BTacsT QR ATell.

JREAT FedHaR WTeiterder! HIud ared aid SRd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the FOURTH sentence after rearrangement?

Ostex @b O iUy (P)e (Q)¢ (R)¢ (S) st (T) wslsm =8 23 ot ey ¢ iad i o Jlasd A Sl | Jma b S
s S

P.LS 58 U8 5o

Q. 3V R oy e K,

R, S S 8 S S g5l

S. led Ly r B ) iy (e mie ) S LeSan 5 55 S,
T Vs Ghsd S G iy a3 ) S,

¢ s U e alea Lu (gsS 2ay S v yiojlago



AP
AP
AP

B.R
B.R
B.R

C.S
C.S
C.S

D.Q
D.Q
D.Q

Answer: A.P
A.P
A.P

164 1 U e Fcrsew 3R &Y el faeneif enes=ar edbg SR e R 3 erf Turdrd. qrrel
g faemeafh g fRudh arge BR g Bia. ATeR 1T IUT 3M1R?

It is the daily routine that some students bring unhealthy food items from the school-gate. You are full of
sorrow to see this condition of your students. What is its remedy?

ReSp e g Sk bl Gn 3 8 T8 S e i Ciaa e w8 S TS Wb 428 S Jsene 1S 55

A TR M edherd SAuery AT FYH STuar SeRewd! e3a

A.You will force to leave the peddlers of eatables from the school gate
A S S e oy i w GRS U8l S sdig e sa o

B.gre! faemafs ez saqea JgTvaTeE SleRa il HRId

B.You will force the students to remain within the gate
B.. S 0o S Usine g iy ol S &K SUll

C.JBATHASG ] dheddld
C.Inform the principal
C.on S glhae S dasi

D.FhTAT UTiHT AeMTHES SINUTT BRI T T =T YT TS Uy i

D.Announcing on the prayer ground in the morning and ask them to avoid such practices.
D.-oxS = S i e ol sl (el S 58S el B3 8 lesd (e s

Answer: D. g1t URAT ASHTHS UIVUN BT STTOT T =T TAT TS UART T,

D.Announcing on the prayer ground in the morning and ask them to avoid such practices.
DS 2 S i e oSl (el S S OOled g 35508 laand (e s
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Answer:

166

TTddd GABiH B 3Mg?
What is the full form of NPK?

INPK = ol JeSa IS

AT HIehY UIeRIaH
A.Nitrogen Phosphorous Potassium
A, a2l 5y o shuld G g ST

B. RIS UICRIAH HIEhy
B.Nitrogen Potassium Phosphorous
B. (estuld ailisy (a5 1

c.fsi urefRrm wiemg
C.Neon Potassium Phosphorous
C. bosiuld ol gy (s

D .31 wiemy areRad
D.Neon Phosphorous Potassium
D. adl s G siuld ol

A FTICIS BIehY UICRIaH
A.Nitrogen Phosphorous Potassium
A arilsy a8l o g 80

fd=r: el v fadied Trsaiar semia siied.

Upper/Minority/ Sentinel/ Sponsor

“Minority” T Regld E‘JITrﬁ JuIATAd bt 38R &ﬂ%?[?
DIRECTIONS: Following question is based on the given words.
Upper/Minority/ Sentinel/ Sponsor

In the word ‘Minority’ how many pairs of words have as many letters as in English alphabet?

o Jaidia prisadl o0 J) e S dia Cyly

Upper/Minority/
Sentinel/ Sponsor

o W SIS S i Goa o Kl e @ Minority
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Answer:

ATD
A.One
A

B.gH
B.Two
B.s

cd=
C.Three
C.u8

DAR
D.Four
DIBIEN

B.aH
B.Two
B.s

W 9 SR Taifaeiaed Gichd gUNT dded dTd YR 8Id B

Does active participation in sports and other activities improves

= G i e spe S pm B0 S 58 Jlad e JueS LS

ARRINSG g gHfois fasmr

A.physical & social development
A s A alen ol SPlauas

B.%d® TRING

B.only physical
B. Sl 8 pa

C.$acs I

C.only social
C.alaw G ya

D it Biurde! et

D.none of the above
Do 258 o Yz o

AIRINSG g gHAfvie fae™

A.physical & social development
A s A alen ol Slaua



168 T TefifeaedT SI&RT=T AT PBTET &R eI hail e o T ShAM Tal fededl Jatd! Th 38,

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

A.baabb
A.baabb
A.baabb

B.ababb
B.ababb
B.ababb

C.abbab
C.abbab
C.abbab

D.babab
D.babab
D.babab

Answer: A.baabb
A.baabb
A.baabb

169 S 3-Add g ed WUdld ...........

Junk e-mail is also called .

= B LS e e S e (gl S

AXIH
A.Spam
A.ple

B.I®
B.Spoof

B



c.feTm fepe
C.Sniffer script

C.y Sl i

D.¥gd
D.Spool

D.d sl

Answer: ATH
A.Spam
A.pl

170 (1001))2008 + 1002 =T 3{fcTH 3feh 3MTg?
The last digit of (1001)2%%8 + 1002 is?

(1001)2008 + 1002 ¢ = ~uudia (s AT S

A0
A.0
A0

B.2
B.2
B.2

C.3
C.3
C.3

D.4
D.4
D.4

Answer: C.3
C.3
C.3



171 T Tefm IS 9 3R U7 AT Yell T8t 3M1e. o= qatd I Srqur=ar Heer V&l T8 38, B Jafd
G I 2

Raju is taller than Manish but shorter than Atin. Atin is shorter than Mahesh who is the tallest of all. Who
is the smallest?

€ 2 05S Usen = L o o n o Uisen o Uliie 0] Uisen 0 R o Lenad s i 53

A. T
A.Manish
A. Uiie

B. 3ifa=
B.Atin
B. Ll

C.
C.Raju

C. sl

D. HeYl
D.Mahesh
D. Uiy

Answer: A. HHIY
A.Manish
A. Ui

172 UTefeh i UicdTg 3107 UTfdaT Gefrelt ¥6-HebeuT SdTq, [ dld.
Parent encouragement and support could up child’s self-concept.

o S S il S LR 30 S s gl 8 s S il

AR
A.true
A_&Lh.u).l

B.@e

B.false
B.kke

c.fAfga mifed A&

C.not sure
C.ud gy ra



Answer:
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D. -l

D.sometimes
D.eS S

AR
A.true
A_&L\u)d

TT: Tl faiedt UeTd U faeT oifg Sard | S1foT 11 31 G s ararett sifard draial TR . T STUR
afd 9 yafg fAasr.

IERIGE
HRAM fohdrear 02¥d1 9@ HY fidar.

fAep:
|. URGH fordre WedTg SHTTdIA ard TR,
II. YR Y I6e DHUAT 3RAAT HHE-ATA 300Ul 3 YTaT Plg Kaval

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and IlI.
Based on this choose the option that is most suitable.

Statement:
India won Cricket World Cup 2014.

Conclusions:
I. Indian cricket players are best in the world.
. Indian team was able to score more than 300 runs in the World Cup finals.

g amy S ol Sl ae Vs 28 0 i bl | ) ] - S QLA S i s se (Al ol (S ol o K o

ot

W ua 2014 oS A5 &S < 5L,

=

| o O e Lo (65008 S S S (il

I, S S HsSaud iy 315w 300 adf il e Jiild S S35,

AFde Tt HHIS | [T R Sae 31T%.
A.Only Conclusion | follows.
A. i Gipa | 8 o &Y

B.%ae kY HHi® || AU SIIeH 3.

B.Only Conclusions Il follows
B. i Cipa || 8 5 &Y
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C.frny s Hie | fhaT Il SeReA 31Te.

C.Either | or Il follows
C.ILIE 5 SY ) v e

D PIUATE! FhY 3Fae A&l
D.Neither | nor Il follow.
D. s 118 5 e Y 2 GBS i e

D PIUATE! FhY 3ae gl
D.Neither I nor Il follow.
Dol osh -8 5 &Y (o (BS —w e

I S1dqul ufkwse At sroarret, @t faae (P), (Q) (R), (S) 3f0T (T) 8 UM aTed ARG SrIsha™
T HT; AR ATeid Wi ST .

P. STaeT UGSl JHdTd dail.

Q. HIgeaM I 2% faa.

R. Il HIaeHT=dT M- It deil.

S. dierd ol JH el U3 Udh HIdes] STSIaR a¥edrd Pl dligal.
T. I PHIaT QR AT,

JREAT hedHaR WTeiterder! iord arad fodR 3Rid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the THIRD sentence after rearrangement?

ostes & o) 1y (P) (Q)¢ (R)¢ (S) s (T) ushlsm =8 oo 2 s ¢ S i o jlss A S |y giwe b S
el S

P.LS 5,8 U8 S S

Q. sV R oy e K,

R. S S 8 S S g5l

S. e L 3 0 i ne e 1S LS S5 5500 S,
T n i S omcyyad) S

¢ s U | et alea L (558 2an S S jioJlugo
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Answer:

176

AT
AT
AT

B.P
B.P
B.P

C.S
C.S
C.S

D.Q
D.Q
D.Q

AT
AT
AT

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
The criminals_got away after killing three men.

A.repented
B.regretted
C.escaped

D.imprisoned

C.escaped

DIRECTIONS: Complete the series by choosing right
figure from the given choices.

i e faseaaym Teg ! foager wrfersT OF #40.

- < PR < e AT - bt efin) Vg sy
—UJ_JS oo R A L e _;_;1:___:;._.:-'_,__:_-._ e L e‘—_is PRI TS

AR

(A) B) (©) (D)




(A)

(B)

()

(D)

Answer: W

()

177 DIRECTIONS: Which one of the following figures represents the relationship among Shirts, Bed sheets
and Towels? JIT: AT BIUT TP S, I8 ey 0T T G AT TRAA? ~a i : iy

o S Saiila (S cldlad (e pa Sl ) Gaind Sueg seandd g geal o 058w 03e sl Jid

00O
A
{}O

®) 0@

©| 8

O) |30

Answer:
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2 [6—{3+(—4+5+1)x8}+12]=?

2-[6—{3+(—4+5+1)x8)+12] =?

2-[6—{3+(—4+5+1)x8) +12] =?

A.1
A1
A1

B.2
B.2
B.2

C.3
C.3
C3

D.4
D.4
D.4

Answer: C.3
C.3
C.3

179 MY I SgaTd edrd ot =iy Jvaar vamnd faendf @i orft sReIE Rasa 3med o -

Research studies report that too large a proportion of students are choosing for their careers which are-

op > = by SRS 58 b i 15 S Wk S 58 Gy allaa JBsat

A IR SO SHaRITTSH T AH=T

A.Professional and managerial jobs
AL Utie D (allabil o) Al 5 b

B.ferftes 3nfor fagsar =

B.Clerical and sale jobs
B.otie 3oe (S s 8 )l SIS

C. IS SO TR JaT

C.Public and domestric services
C.alaxd sl 58 4l alse



Answer:
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Answer:

D BRI 30T 3ef-=1a A=
D.Skilled and semi-skilled jobs
D.orfia j3e ey pad ) e i

A AR S0 TRITUDHIY b=
A.Professional and managerial jobs
A. i Bl (aldai) 5l A3l )5 iy

et SRR @i — s 3

The Code of ethics of the teachers permits them to—

AS = U Olal el 358 S @A) S ol —

A I IiTate faematar U 9 Ris oy

A.Teach for pay a pupil in his class
A5 o Selan Sale (il e (W3S )

B.aT&Tedid ST RO JgHIf g0t

B.Participate in politics out of class

c.Raa SFT givon gioargd! &1 TeErat Sl HRun

C.Apply for a job before its vacancy is announced
Coe S il 0 ) S a3l g Plel S S I8

D. MU= STal= <=l Rl ol el aIg died

D.Discuss confidential matters as he sees fit
D. = lenan caulia o5 S Luga o S K38 ) lalas ~id

B.UfaTRd ISR FgHrf gron

B.Participate in politics out of class
B. 2 maa e Coslpns 5l S L3S
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foiGer: el Teeiedr smpdih sredier gfdam e

DIRECTIONS: Find the mirror image ofthe figure given below.
S (AN el (S AT e K3 L3 an senbly

B ETIE
Question Figure:

Sk adle

Q|

SULEHATPAT:
Answer Figures:

Er CUPes

Answer: A. (A)
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ITGA Ay Sfor AR IR FsBy, 1, 11, 11 307 1V & 3iTed. 81 faem arT=ua: 1a aegRuciiue fid
3T X T 3Med 3 JHel. feaieurtie! S fssy e faumias o] dledl 3% Udhdl § gl
AT 3. gH IR YfId &,

faem:

(a) TEE) T g
(b) T4 g1 CaeH TR
e

|. HTE! cae AT 3M1gd.
II. TS TTeT Y 3R
1. FTET gt T 3MTe.
IV. Thg! cad T e,

DIRECTION: Two statements are given following by four conclusions, I, Il, lll and IV. You have to
consider that statements to be true, even if they seem to be at variance from commonly known facts.
You are to decide which of the given conclusions can definitely be drawn from the given statements.
Indicate your answer.

Statements:
(a) No cow is a chair.
(b) All chairs are tables.

Conclusion:

|. Some tables are chairs.
Il. Some tables are cows.
[ll. Some chairs are cows.
IV. No table is a cow.

uﬁm‘guyﬂi)\%éﬁmjd:dgbﬁ lell¢ |”J}\|V_Qﬁa}uﬂxn:'\‘:53%)§\chJLAQuJJ%e}}S%L
Lh Lo DISS ae Sibifts sa LS JLEA) ul sk ) e gpadd 8 0 Sl S Cidae G Blis o L
e S U0 Gl g,

Ol kel
= o o S 8 S
O e gl S plad

s

lom O S i S
llos A8 e ~aS

o 8 Gl S A28
IV o 8 i 8

ATHR Il fhar 11l fAswd e
A.Either Il or Il follow
A5G =

B.UHR Il fhar Iv sy fAga
B.Either Il or IV follow
B.LI SLIV o iy
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Answer:

C.Fae | fAswy fAga
C.Only | follows
C}J)A I = tl\.m)d

D.TTUS! Tdg! el

D.None of these
D.=oxd S gr S

D.TTU! Tdg! el

D.None of these
D.= o Cwd e 655

T fEdiedn T aTes o STeR Plel.
DIRECTIONS: Find the odd one out from the given alternatives.

RO S S o e e ol K5 e

A.SUNDAY : YADSUN
A.SUNDAY : YADSUN
A.SUNDAY : YADSUN

B.MOTHER : TMPRHD
B.MOTHER : TMPRHD
B.MOTHER : TMPRHD

C.PARENT :
C.PARENT :
C.PARENT :

D.MOSTLY :
D.MOSTLY :
D.MOSTLY :

TNEPAR
TNEPAR
TNEPAR

YLTMOS
YLTMOS
YLTMOS

B.MOTHER : TMPRHD
B.MOTHER : TMPRHD
B.MOTHER : TMPRHD



184 LI Wi wyiae el gatardeT Jeftid sieR/sa/ie s,
NUMBER : UNBMRE ::SECOND: ?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

NUMBER : UNBMRE ::SECOND: ?

NUMBER : UNBMRE ::SECOND: ?

A.HOESTN
A.HOESTN
A.HOESTN

B.HOGNSD
B.HOGNSD
B.HOGNSD

C.ESOCDN
C.ESOCDN
C.ESOCDN

D.DNOCES
D.DNOCES
D.DNOCES

Answer: C.ESOCDN

C.ESOCDN
C.ESOCDN
185 Wreiede! gfce il 2req e,
AT
Bt
C.qdl
DI

Answer: AHAT



186 FHRT IR UHR 3 Ahd: e, [, aoReST a YH:-aTRuar. Sifad daame, 81 Uh Hew@rdl YR
3R,

Garbage can be put under four categories: organic, toxic, soiled, and recyclable. Of the organic waste,
this forms an important part -

Craan Oyl 1S Al lila ¢ JiE S ISl (5 ol 1 Ol 5 e SAR T S L WL Cand S (5 5e ) s S ES K158
oy

AwiRe® T

A.Plastic bags
Ay S say

B.HTSi Tt
B.Vegetable peels
B.ob

C.Hhid
C.Glass
C.oX

D.41g
D.Metal
D.wa

Answer: B.HTSIIT ITal
B.Vegetable peels
B.ob

187 TRBREA ..o YUTCIHEY, TRBR A URIT Paedl AfaRaqr=ar sagR piitd sl .

The Government can be removed through a no-confidence motion passed by the Parliament, in the
...... system of government

U la LS o2 oS CaasSa s shaie (e Citsadd S S pat (S alaie) ade e pllai PEFTINEIN

AT
A.Federal
Al s

B.U&H®!

B.Unitary
B_ ‘f\h}

C.3feeiy
C.Presidential
C. L_é)\.la.a



D. e

D.Parliamentary
D. el

Answer: D.I9d™

D.Parliamentary
D. Sl

188 fo<lt 92 fafed o smea?

How many Vedas have been written?

fom K Sy, S

A.2
A2
A.2

B.3
B.3
B.3

C4
C4
C4

D.5
D.5
D.5

Answer: Cc4
C4
Cc4

189 deme Tl | aTel Taad

The saliva secreted in the mouth digests

5\‘-;‘)5?“’?}5- ----- d\‘)é\j G e Ade

ATH

A.Proteins
A0S



Answer:

190

Answer:

191

B
B.Starch
B.z

D.Vitamins
D.oxb5

B.&™
B.Starch
B_E)\ﬁu\

Out of the given optionswhich best expresses the meaning of the given Proverb?
Empty vessels make (the) most noise/sound.

A.People who have a lot of wealth do not boast at all
B.People who talk a lot and frequently express their opinions are often stupid
C.The vessels made of light metals should always be preferred

D.When the vessels are kept side by side they make a lot of noise

B.People who talk a lot and frequently express their opinions are often stupid

A 30T B Sfg0R 3gd. R 30T S YIS, 3MTed. A T v R = @107 3MTe. T B © S Hied Ald H1 3HT8?

A and B are sisters. R and S are brothers. A’'s daughter is R’s sister. What is B’s relation to S?

AJsB = RIS 2w A SR 20rS. BESE o) S gle <

A.3MTS
A.Mother
Ao

B.3fTSit
B.Grandmother
B.saba b JG



C. aIu
C.Sister
C.ow

D&%
D.Aunt
D.y&

Answer: D.dhIdh
D.Aunt
D.y&

192 faem:
YRAT arg TgH01 YIS UTaed! Tad 317G

FHrd P
|. DICHATRIBT ATUR Ufdsiierd B
II. YRATd UGYUT HUT-IT Hi-T AYTATITS ] SR HHcirdl RITIHT .

Statement:
Air pollution in India is reaching alarming levels.

Course of actions:
I. Ban use of insecticides.
II. Institute a high level committee to find persons involved in polluting India.

o=
'5@)M&hdb)&6§3}]@wwhi\

Jae Aa0Y:
-0 iy Jlasind S Clysal e 2 5.
ll- s Sy eSS g ol Sl o S S G 5 a8 Gisle e —0hey (Sl (el

ATa | STERE 313,
A.Only | follow
A Gpal & 5 &Y

B.Whad Il S{IERU Hd 38
B.Only Il follows

B. Ciya I £ 5 &Y

C.UHWR | fobal I ST 38
C.Either | or Il follows
C. L& 5 &Y S e



D. | fhdT Il S G0 HTETa! SFIARYT B Tal.

D.Neither | nor Il follows
D. 1o -8 5 0t SY o (A8 e o

Answer:  D. | fdT Il SEIU®! BTETGT SFIARU B Ta!.

D.Neither | nor Il follows
D. s 1118 5o BY (2 BsS m e

193

focer: TRARTEI APl SISl 3Welell 3ol ATFel ME.
DIRECTIONS: Find the answer figure in which question figure is embedded.

| ; t Fla ‘ ., -
ms bt 803 Allnn e e o S ple 2p il

EEEIETIE
Question Figure:

i5d adle
/N
ST AHAT:

Answer Figures:

58aE gl

A M|V

B () (D)




194

Answer:

195

faden w3t 7 araaer wrar foem e, e fAFeaaya ot 7 gradedr wiemEn
YS! Hidden Hega faast.

DIRECTIONS: An unfolded dice is given. Choose the folded pattermn of unfolded dice
from the given alternatives.
5 c 5

P ey T TC R AR [ MRS SO i L TS DR SN 1\ DC Ly, S [ SR 1, o TC QR 1 JRUNLOWNE.  DLETEY

-

b

(A) C AI

2
(B) D C
L/

! fawt fdhid . 800 3HTR. GHIMGRM it 10% STIOT 15% <01 GIF e qaadiak WXd! dbal. M
RIDHIR T. 25 T el TN G 5. 800 AT fAHcHl. ATAT AHI/dICATd! TaHaR] B,

The marked price of a chair is Rs.800. A shopkeeper purchased it on two successive discounts of 10%

and 15%. He spent Rs.25 on transportation and sold the chair for Rs.800. Find out his gain/loss
percentage.

des 5 di ol Jupd e dudis 53 (S%15 051%10 =) 2 OIS S 2505 800 el Siedle (S o S S

S pslae 1o (B1S Gl /o218 IS () L o (e 255 80058 (o S S Sz s 25025



AAdWT 25.58%
A.Gain 25.58%
A. 25.58 %

B.dIeT 25.75%
B.Loss 25.75%
B. 25.75 J=ii%

C.A®HT 11.11%
C.Gain 11.11%
C. 11.11 &%

D. AT 11.11%
D.Loss 11.11%
D.  11.11 g%

Answer:  A.AWI 25.58%
A.Gain 25.58%
A. 25.58 %

196 LI W wyiae fcien qafaide Heftid sier/Rsa/iet HasT.
MxN:13x14::FxR:?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

MxN:13x14::FxR:?

MxN:13x14::FxR:?

A14 x 15
A14 x 15
A14 x 15

B.5 x 17
B.5 x 17
B.5 x 17

C.6x18
C.6x18
C.6x18

D.7 x 19
D.7 x 19
D.7 x19



Answer: C.6 x 18
C.6x18
C.6x18

197 TSl HETA BT T JAA T T el

The Taj Mahal was built during the reign of —

Lo LS Wy ae CaasSa (S Sdaagls

A.3[hd

A.Akbar

A. S

ERIGSHI

B.Shah Jahan

B.oka ol

C.HqgE-0ad

C.Qutb-ud-din-Aibak

C. Sl pall (akad

D.3sTgH areht

D.Ibrahim Lodhi

D‘;QJJX r":‘:'\ﬁ‘

Answer: SRURSH]
B.Shah Jahan
B.oba ol
198 378 x 456 =7

378 x 456 =7
378 x 456 = ?
A.172368
A.172368
A.172368
B.172524
B.172524

B.172524



Answer:

199

C.152464
C.152464
C.152464

D.145278
D.145278
D.145278

A.172368
A.172368
A.172368

Frér ol e wWEwey REanEn % 62§ %ed TS0 §edT §arEan asiEer S
At Bee @ e we REsw W Aéewecd adEsaeTS aeieTTeaT @ awEE
ZiER T IS, AAEE-1 T TET HOY MEET O F 4 W A BN 3es W #aee-lla
5 & 9 ¥R wAE R o AR, T AdeRwate e § ww we s i @ wmat
ot smEw, TErgTomd, N F 21, 67 % sanway IESr Mg T R § 57, 66 . MW
TiEE @ E. FANET TR METER 7 SRETHISr WY Searadr AR,

DIRECTIONS: A word is represented by only one set of numbers as given in any one-of
the alternatives. The sets of numbers given in the alternatives ars represented by two
classes of alphabet as shows In the given two malrices. The columps and Tows of
Matrix-I are numbered from 0 to & and that of Matrix-11 are numbered from 5 to 9. A
letter from these matrices can be represented first by its row and next by its column,
for example, "N" can be represented by 21, 67 etc. and R can be represented by 57, 66
etc. Simllarly, you have to identify the set for the word METER’.

T eVt S e e e WS 5 IS il LS Sl £ B i
P S BOERER Y. 7 CL N (PSR T A B e S B 5 s ia LR 1 Za S S aied
S e i AL SN R N s o Tk g I X
oo iy S U T A S LS PSS e AN o el S sk T S S
et RN S Tk O e b CORSESR OIS SMETER o S0 sl X o8
L EAES S| HEI
Marrix-1 Martrix-T1
IS e H-. 2
oli1l213ala 5|6|7|8|9
olJIRIAINIE SIHIMIR|1|T
1 [W]U|N[R]L SIMIRIN|TIP
2lEINIRIG|J 7IC|S|T|E|U
alnlaglrlolm 8|S|N|S|M|5
4|E[T|O[F|A 9|M|BIE|Q|U

A. 65, 40, 68, 99, 66
B. 88, 20, 59, 97,13
C. 56, 78,41,40,67

D. 95, 41,40,68,57



Answer: B. 88, 20, 59, 97,13

200 frger: faciean ofd mifardsdia g ia S JNe:
8,5, 6.5, 11, 26, 68, 207.5

DIRECTIONS: Find the wrong term in the given number series:
8,5, 6.5, 11, 26, 68, 207.5
o56S paihale ez eyl 8 oo Culy

8,5,6.5, 11, 26, 68, 207.5

A.68
A.68
A.68

B.6.5
B.6.5
B.6.5

C.11
C.11
C.11

D.26
D.26
D.26

Answer: C.11
C.1
C.11
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